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1. ST U W qhe YRR o T W@ g W S

gl GiRTR Eiem %1 %81 S, @ SR uE T #

Y HETE AfArArd G Feel et/ Jicl g

o= o foaro @l

e Wi eTafy 3 Wer € ud wien yfaw § ofifnt,

THIIAYNE Ua StratamT ( aeafafesnT ua witdgeT )

ol § 200 sRfaweda g € (4 fawed § 9w W&

W ) | v fawa § 50 7w ¥ fownr e auigar

|1 AU ( A e B ) H fafse foran o ¥

(a) STV A F T fama ¥ g5 (Hdm) (7w d=n 1
¥ 35, 51 ® 85, 101 ¥ 135 TH 151 ¥ 185)
¥ ¥ weft ww arferd €

(b) ST B % weies forw § 15 (Wgg) (9 @A 36
H 50, 86 ¥ 100, 136 ¥ 150 U5 186 ¥ 200) T T
YT B § Wenfdt i vl fawm € 15 (deg) §
Y & 10 (M) U7 HA F0 |

wrerTiefe ot EEiTe € foh WoHll o ST o g STTHTT

B ¥ weiek faug o |3t 15 uyHi o 98| A ®ig

olteniell 10 WeA § 33Tk WEHl 1 ST <O € A THh g

ITid WuH 10 W AT & Jodish ferar smuam

TeE WY 4 3% T T W I %k faw wdemed

I 4 3% Teu S | 9= o SR % fau @ am o

H Uek 3k TEA SN SHeRaH 3R 720 F)

T U W faew e i 6 39 99 W e e

% feru sharet et/ il it uige U 1 941 L)

5. TF %M TH TieEn yicaw W i @\ g sl
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JTUTT - A ( Hifeent )

I B T21 G A Soll a1 Teeashu vl i &l
uaﬁhaﬂﬁ%,ﬁrgﬁﬁméﬁﬁ%:

O [MAF[L-2 [T
@  [MA[L-Y[T]
@ [M]IL-1[TY

@ [M][L%][T°]

foam ™ o3 F SR T L Ed & T, 0F
C €@ &1 91T 99 TF ‘R’ Jfauy &1 Jialyh
V AR favamm & goarad e & il w0 2 8

L, C, R W fguam=R &9 40 9ice, 10 diee a9
40 =t ¥1 LCR A" ufiyyg & warfea

1042 ufEr &) uftay 1 widaen €

()
o/
v
(1) 53M
@  4/2%m
@)  5/N2 3
@ 43W

TS 5] ‘0’ AT H T A6 A FA g1 TR
fegfas =1 =t o1 ©

(1) 4n
@ n

3 2n
4 3n

Hindi+English

Section - A (Physics)

If E and G respectively denote energy and

gravitational constant, then E has the dimensions
of :

1) [MA[LE[T]
@  [MP[L-TY]
@  IMIL-H[T]

(4 [M][LO[T%

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference 'V’ volts as shown in figure.

Potential difference across L, C and R 1s 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

102 A. The impedance of the circuif ig ;

— A V—— 10 V—+— 40 V—

o)
LS
\%
1O 50
@ 420
@ 5Nz Q
@ 40

A body is executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy
18 ;

1) 4n
@ n

@ 2n
@ 3n
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Hindi+English 3 P2

4, TS R T =1 96 9 e o 891 T 39w | 4 A thick current carrying cable of radius ‘R’ carries

ST TR I A €Y Y i 31 e F wrm current ‘I” uniformly distributed across its

i 8 S ¥ cross-section, The variation of magnetic field B(x)
Eis 2k B(r) 1 R R hfa 8747 ¥ r @ due to the cable with the distance r’ from the axis
ATYET yefve fomen < # of the cable is represented by :

@ B | @ B
i r —
! T
@) &
@ B
T e
¥ —_—
!
® B & i
@ B
| S
T e
I
@ B g q i
’ @ B| /
—

5. T 240 ToHHE T I ANEE, T g9 |
120 % T @vSl H Tea ¥ s@ea a9r @fed | 5. A nucleus with mass number 240 breaks into two

afast 1 g=u7 sl gfa :ﬁfﬂﬂﬁ? FHI: fragments each of mass number 120, the binding
ere . energy per nucleon of unfragmented nuclei is
7.6 HE i ‘ (MeV) T 8.5 1 T Fi 7.6 MeV while that of fragments is 8.5 MeV. The
MeV) & | TohH H Fe1 U T4 S oIl © total gain in the Binding Energy in the process
18 :
1) 216 HMEHRA diee
(1) 216 MeV
2) 0.9 YIEARIA dee
® B 2) 09MeV
(3) 9.4 YIS AL B 94MeV
@ 804 AIGAFM aice @)  804MeV
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10.

T FHFRK ™iE 91 F Wd &+ d9h TSR
forga & B #1 afs @ ¥ e 1 gl @ T T
e F SFEA A’ B o eifey § uwle =it
% 1 (g, =Tl =1 foregmefieran

. E2Ad
(1) £

1
2) EE“EE
3) e,EAd

@ %EDEEAd

TFHATT 600 rHRR TR ol ¥l § 35 ufa
AU IS Wil ol WEAT 311 o9 98 3.8 X 103
o1 i Seafsld 4§
(h=6.6x 10347 x H.)

(1) 1015
) 1018
3) 1017
(4 1016

(1) Tors rh fomg foya sme < 21

@) T foya aimevl g S 2 |

@ = TR &= % suftem | & fgyga sl o
FXI §, STEANT o faReme o R

@  Shfgya st auft U d 8, 59 g
&5 STafeerd B T

T fedmfra =EeEe 1 sderyg 100 = ¥
150 = 3 F1g WRIFF Hfshaar st o= gen foarcaen

AT AT

2
(1) 372
@ 12
1
® 35
)
@
T T et sl B V=V, sinwt ¥ ‘C ¥R
T T 1 Je1 2 |
TS & wiel & o9 faerT am ant

(1) I;=V,ywCsinat
2) I3=VyeCecosut

@ I =Ecosmt
L1

@ Ig= Yo sinot
L1

4

10.

Hindi+English

A parallel plate capacitor has a uniform electric

field ‘E’ in the space between the plates. If the
distance between the platesis‘d’ and the area of
each plate is ‘A’, the energy stored in the capacitor
is : (€, = permittivity of free space)

i) FZAd
€0
1 9
@ gEAd
@ %EDEEAEI

The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when it delivers the power of
3.3x 10" 3 watt willbe : (h=6.6 x 10~ 534 Jg)

(1) 1018
) 1018
(3 1017
4 1016

Polar molecules are the molecules :

(1)  having a permanent electric dipole moment.

(2)  having zero dipole moment.

(3)  acqure a dipole moment only in the presence
of electric field due to displacement of
charges.

(4)  acquire a dipole moment only when magnetic
field is absent,

The half-life of a radicactive nuclide is 100 hours.
The fraction of original activity that will remain
after 150 hours would be :

2

O 55
@ 12
1
(3) 22
2
@) 3

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by

V=V, sinmt

The displacement current between the plates of
the capacitor, would then be given by ;

(D Ij=V;elsinet

2 I3=V,wCcoswt

Vo

I = 1
(3) d - COSm
Vo .
Ig=— t
) 4= o™
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11.

12.

13,

14.

T SRSl 519 U qR % & 1 919 & g vgaa
faran st €, o Trerforfe wieTie S ©

A T % UeEis = 0 faefiHiey

J YW o 9ISHE = 52 @M

ez rn ® for gem YA W 1 firefieier, oeig Yam
% 100 @FI & TG BT ¥ SwfE fu ™ Yaei &

T o S &

(1)  0.052 9.H.
(2  0.529.H.
(3)  0.026 9.9
@) 0.26¥.4

fiom @ Tooiq =W % 9W =1 I@ BISCI HiF H
T9adIE V3 &

— 60°
L 90
@ 60
3  80°
@ 45

T fawaardt oiigs | 1.5 9ice faanea. =t & 9
36 WHI. 91 ¥ R W Hgfaa fag S ¥ 3fe
2.5 5l faand. el SOl Ot ugelt Tet =i whaeenfia
Ft §, @ TR & fFe o= | Agfaq fag o
a2

(1) 62|
(2) 60 W.HL
(3) 21.6¥.4
@) 649H

T HU Yol Fae | S S § R s g e
fAfyaa S W et 1fqs ot 391 fearfast <t =t
W AT S S| S &T01 H it Yt TaE | HaAE q
0T I = A G

S [3gh
D 4
S 3gb
@ 4" 2
S  J3e8
(3) 1 2
S /3¢S
® 3

11.

12,

13.

14.

P2
A screw gauge gives the following readings when
uged to measure the diameter of a wire
Main scale reading : 0 mm
Circular scale reading : 52 divisions

Given that 1 mm on main scale corresponds to
100 divisions on the circular scale. The diameter
of the wire from the above data is:

(1) 0.052 cm
2)  0.5Z2cm
3) 0.026cm
4 0.26 cm

Find the value of the angle of emergence from the
prism. Refractive index of the glass is J3

m 60°
O 9
@ 60
3 30
(4)  45°

In a potentiometer circuit a cell of EMF 1.5 V gives
balance point at 36 cm length of wire. If another
cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

(1) 62cm
(2) 60cm
(3) 216cm
(4) 64 cm

A particle 18 released from height S from the
surface of the Earth. At a certain height its kinetic
energy 1s three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

@ 2 3
@ 548

sh

T
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15.

16.

17,

18.

AU TS, THH ST FE F %A ad 9961
TerY & HHRK WH H e 9R 9’ 1 qed wiaay
0.25 =19 €\ =g 3T Soft 6w & <ire e =iy, o
TYEt Fiadier = B ?

() 43™

@) 0.253M
3) 0.53
(4 1%m

TF ZEET & 99H & fau 15 TmnE, =i X 3
60 1. S=mE W Al fTRan €1 o897 < RO RS
et == & 10 Fiava =t S S 81 TWEEA S TA

Foret wifem <o9=1 =61 ST €2
(g=10H1./4.2)

1 7.0 fFaER

@  10.2fFeER

3) 8.1 TwsEE

@ 12.3TwcmER

femm ¥ I=E % = § 5 TERR S
yared Bdl &1 e & WHN U FAEA
105 T4, o =0 4 TG 1 £ 1 Uk &9 W gAa2 [
AT =T F A= orered g 20 WAL ¥ SH AW
TR g eHYa fFd S 9t o % ufiEm w

IMOTAT ﬁ?gllaQ |
Electron v=10% m/s

e

20 cm

L

P 5A Q
1) 8x10~20=
(2) 4x10-20=A
(3) 8wx10- 20T
@  4wx10~20=gEH

frifefias wa (A) 997 (B) R fa=r +ifqu a=n

E S = Faf<a Sieg |

(A) U SR TS 35RA AfeAfa | @1 8, 5@
ferea fFrer=rer 1 o8 WgF g 2|

(B) p-n | FT favg 9= 0.1 Fiee q97
0.3 Sree & H9 M|

1) (A) oW § R/ (B) TA ¥

2 M (A) 7 (B) A E

3) <M (A) T (B) A £

@ (A) 9 8 T (B) e €

15.

16.

17.

18,

Hindi+English

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-section and same materialis 0.25 (3, What
will be the effective resistance if they are connected
in series 7

1 40
@ 0250
3 050
@ 10

Water fallg from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How
much power is generated by the turbine ?
(g=10m/s2)

Q) 7.0kW
@  102kW
G 8.1kW
@ 12.3kW

An infinitely long straight conductor carries a
current of 5 A as shown. An electron is moving
with a speed of 10% m/s parallel to the conductor.
The perpendicular distance between the electron
and the conductor is 20 em at an instant.
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10° m/s

e

20 em
-
P 5A Q
(1) 8x10-20N

(2) 4x10-20N

(3) 8wx10-20N
4 4wx10-20N

Consider the following statements (A) and (B)
and identify the correct answer.

(A) A zener diode 18 connected 1n reverse bias,
when used as a voltage regulator.

(B) The potential barrier of p-n junction lies
between 0.1 Vto 0.3 V.

(1)  (A) is incorrect but (B) 1s correct.
2)  (A) and (B) both are correct.

(3)  (A) and (B) both are incorrect.

)  (A) is correct and (B) is incorrect.
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19.

20.

21.

22.

23,

T T 10 ==A & 9@ 9 5 9.0, fg<i Tt &1 5

2 T30, ZoomF o) 399 T Sl 8, 6 Srer o
STTEIeRTET BT ¢

(1) 0.628 UFHTS
(2)  0.0628 YFHIS
(3) 6.28 %S
(4) 3.14EFUS

n-2TEY TH=eTs H Seae S Sigar Sa & & fa

p-2EY SATAF T i Tt Tgal §1 S W &I

forga & o S ¥ 1 ST o umeTi o ST Wi

T Fif |

(1) p-2EY G ®IE 9 genfed T w8, Hee
n-2EY o ¥R yenfeq et

@ nRIE IU=p-IEIH 91

(3) p2EYHYN >n-°RIH HUH

(4) n°RYIHHU>p-IETHUH

FeroR U Teya faggm & | v o 31 5% T

feon & fg =em ?

T
(1) SR TR i gEen fegfast Sei o= |
2) =l T i sueh! feufast et we |
@) T W HilE sTe feafas et s |
@) o o ST gae feufast s we |

T 318 % oS ‘4’ T W TF 20 WAL wEd
1 3T ¢ A’ TG 5 HHI. BiwHE g0 F SEad
B @ € AfE A’ R STad SHRR TR I,
B & Freper W o FERR T @R, g d
.. o Brf

(L) 80
@ 25
@ 15
@ 50

geal Tag § ISR 9 v | FHF SHH T qel
geafl & e o =R A1 TR arer S 78 o Gag |
YA 97 BT E

1 4dv
@ v

3 2v
4 3uv

7

19,

20,

21.

22,

23.

P2

A gpring is stretched by 5 cm by a force 10N, The
time period of the oscillations when a mass of 2 kg
is suspended by it is

()  0.628s
2) 0.0628s
(3) 6.28s
@) 3.14s

The electron concentration in an n-type
semiconductor 1s the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them. Compare
the currents in them.

(1)  Nocurrent will flow in p-type, current will

only flow in n-type.

(2)  currentin n-type = current in p-type.

(3) currentin p-type > current in n-type.

(4)  current in n-type >current in p-type.

A dipole is placed in an electric field as shown. In
which direction will it move ?

o -I‘Y
< - —o > E
+q —q
A
(1)  towards the right as its potential energy will
Increase.
(2)  towards the left as its potential energy will
mncrease.
(3)  towardsthe right as its potential energy will
decrease.
(4)  towards the left as its potential energy will
decrease,

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 cm are kept along the
same axis with a distance ‘d’ between them. If a
parallel beam of light falling on ‘A’ leaves ‘B’ as a
parallel beam, then the distance ‘d’ in cm will be :

1 30

@ 25
@ 15
@ 50

The escape velocity from the Earth’s surface is v.
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is :

1 4v
(2) ]

(3) 2 v
4 3v
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24,

25,

26,

27,

T T BT o TR TR U8 W N TIRE i
T faaaesre T eafag ot 81 Ak a9
ST “m’ TN & PRIBAEEH i S-siell qieed
}‘d g“f, T‘ﬁ :

FE

mc

_(2m), -

@) * [hc ]ﬁd

®) hf[%}hg
2

o

TS Jd IR §U O9T T80 §RE 1 o GIeEl &

arfigyares o foru STeafers Su=ntl g &, aRiifes .

1) TH Jod gk IOl 9 g9Ian @ foe ke
FEAT

2) U Jad S 1 ST S Yl Guey
&THAT 1 HRF B £ |

() UF gEd TR 3TN faveT Wer Y B

@ ydFa g gt

R, @M R, 5301 o < ST Tiedt =ietes T aR §

Sirg fRU I 81 Tl & T8 STeR1 Sl (o,/09)

ST BT S

1 L2
@ R,

3) Ry

R
o &)
x-Teen | Geia ua gAae fora grarehia @@ & o
Frefafea deeFl § | % @ wue: g 89 (E)
9T JFRE &7 (B) T G v foemed i ysikia
FIATE?

FAT Y AT AN

@) itk —j+k

T N A S 4

@ itk j+k

FATRN AN M

G —j+k -k

AT A AT 4

@ ik —j-k

8

24,

25.

26.

27.

Hindi+English

An electromagnetic wave of wavelength ‘A’ is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron

emitted from the surface has de-Broglie wavelength
}\d, then 3

2hY 5
A= — A
(1) [mﬂ_j d

2m ). o
A=l — [
2) [hc, d

[ 2me 2
® ?\d—[ N ]?\

2
o

A lens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since ;

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2)  alarge area of the objective ensures better
light gathering power.

(3)  alarge aperture provides a better resolution.
(4)  allof the above.

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/0y) is ;

R
=
R}
R
@ R—;
R
) ﬁ—f"
R
o (&)

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively ?
AT M
W itk —j+k
A T S 4 Y
@ 4k, j+E
M FA A
@  —j+k, —j-k
M M

@ itk —j—k
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28,

29.

30.

31.

T FY ¢ T T 90°C § 80°C % < 8l &,
Tl THEL R/ AW 20°C 7 1 TH L T 99 W THE TS
o Y T HIR Bl 80°C F 60°C TF S-S FH 0 T99

I BAT :

b
VT
13
2 Et
® S
10
@ 33°
feu T Haem O g aifia §
C
| 1
11
| 1
11
C
(L) 3C/2
(2) 3C
@ 2C
@ CR

afc o/ [F], TR0 [A] 997 994 [T] & 327 Sifas
st v T Sy, 9 =i 1 faa 9 s

() [FI[AT[T]

@  [F][A][T]

3 [FI[A][T?]

@ [FI[A][T1]

TERIAmEE (t=0) W U BRI i foeh Taaaad o =i
Y iR figuera &1 9 eFadd t=n—1 ¥ t=n F A

. S
iR g =l T g S, B W g nl ST Y
n-+
on
@O gpq
on—1
@ o
2n—1
O]
2n+1
@ on-1

9

28,

29,

30.

31.

P2

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C. The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C is ;

m
® ot
® ot
@ 1ot

The equivalent capacitance of the combination
shown in the figure is ;

C
| |
[
— = -
| |
[
C
Q)  3C2
@  3C
@ 20
@ o2

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities,
Find the dimensions of energy.

1 [FI[A-1][T]

@  [FI[A][T]

(3) [FI[A][T?]

4 [FI[A][T1]

A small block slides down on a smooth inclined

plane, starting from rest at time t=0. Let S be
the distance travelled by the block in the interval

S
t=n—1to t=n. Then, the ratio 2 s
E"3’1:1-!-1
2n
D 2p1
Zn-1
2
2) on
2n—-1
@) oni1
Zn—+1
T |
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32,

33.

34.

M EFAM T d 5 o Bl g 1 o e 9
N T H oM TR TS 999 9% TR 2 Siar 8 | af

ﬁmﬂwwm%ﬁrﬁﬁﬁzwaﬁwww
BT :
1)

2Mg

Mg
2) >
3 Mg

@ Mg

T - [ e e a9 9 T $39
ifeieh Q27 S FA & | Te — IT T TR T
o forpm fvml wfinfaa 3t & = =@ =@ ¥
T - I I Tes] - 11 ¥ e e g gRferd i ;

-1 e - 11
m
GV LR ® L
® Tagda v @ neyy
© i wa ®) %‘T
E
D) YN &) T

(1)
(2)
(3)
4)

(A)-(R), B)-(Q), (C)-(5), (D)-(P)
(A)-(R), B)-(5), (CO)-(P), D)-(Q)
A)-R), B)-), (O-Q), (D)-(P)
&)-R), B)-E), (O-(8), D)-@

w edafea iy SX %om: faufeq @ 2

2X 57 1Bz 3C >z oD w0 F, & Z 7=
X 1 9] e &1 w9 o faufen wom ww g
shHA:

M B, BT

@ o B, B

3 o BT, BT

@  BF,a BT

10

32,

33.

34,

Hindi+English

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine
becomes constant after some time. If the density

of glycerine ig % , then the viscous force acting on
the ball will be :

(1) 2Mg
(2) %
(3) Mg
4 %Mg

Column - I gives certain physical terms associated
with flow of current through a metallic conductor.
Column - II gives some mathematical relations
involving electrical gquantities. Match
Column - I and Column - II with appropriate
relations.

Column -1 Colummn -11

m

(A)  Drift Velocity (P) nezp
(B) Electrical Resistivity (@ neyy
(C) Relaxation Period (R) % 7

E
(D) Current Density (S) 7
1) (A)-R), B)-@Q), (C)-(3), (D)-)
2 AR, B)-S), O)-F), (D)-Q)
@ AR, B)-G), O)-@Q), D)-FP)
@)  A-R), B)-P). O3, (D-@Q)

A radioactive nucleus '%X undergoes spontaneous
decay in the sequence

%X -y 1B—og 3C—>y oD, where Z is the

atomic number of element X. The possible decay
particles in the sequence are :

1 BT« p”
@ e« p.BT
@ e« p*. BT
@ BT o B
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35,

36.

37.

T - [ 1 T - 11 ¥ gofera Sifse 9o 9= ko

T formedl § W gafed =i Bife :

-1 T - 11
&) T srusti @ P) %nmﬁg

1 A1eT ga 9

3 RT

B) IE TN R TE Q) ,T
© S H SIS IS ®) %RT
O 1TEREEEE © ngT

e ST ool

1 A-R),B)-@Q),(C)-F),D)-S)
@ @-R),EB-E),0O-6),D-Q
B  A)-@,B)-®), (C)-(5),D)- (@)
@  (A)-@Q),B)-®),C)-), D) -ER)

ST - B ( siifret )
LER T

— (_:. %)
F=q\vxB
— Fat Fat Fat
=qux|Bi+Bj+Byk
. — at as rat
H q=19 v =2;+4 j+6k

= A A A
F=4{-20;+12Fk

B WUl SR 1 R 2

M M s

D 6i+6j—8%

it M it

@  _8i-8j-6k

& feg

A M A

G  —6i-6j-8k

M Fal A

@ 8;+8;-6k

‘M T a0 R B & & 9 3o | 90°
AT o T b 19 (3TF) T T S & | 9 §¢
Tt o T R TS ST Boed o ek o oI AT
T Soel o a0 o Teaq 278 % Fue ‘MR2 F1 K

T8 KA R
1
O 3
3
(2) i
7
@ 3
1
(4 1

11

35.

36,

a7.

Match Column - I and Column - II and choose

the correct match from the given choices,
Column -1 Column -11

1 .
(A)  Root mean square ®) —nmg>
speed of gas molecules
3 RT
(B)  Pressure exerted Q) N
by ideal gas
5
(C)  Average kineticenergy (R) ERT
of a molecule
3
(D) Totalinternal energy (5 3 kpT

of 1 mole of a
diatomic gas

1 A-E&), B)-(Q),(C)-(P),D)-(S)
2 W-E®),B)-P),(C)-G), D) - Q)
@  W-Q),B)-R),(C)-(®),D)-(P)
@ W-Q.B-P),C)-3),D)-R)
Section - B (Physics)

In the product
— (—> —>)
F=q\vxB

=) A P P
=quX\Bi+Bj+Bgk

Pt

— et Fal
Forq=1land v=2i+4;+6k and

— s i

it

F=47{-20;+12k%

_>

What will be the complete expressionfor B 7

@D
2)
()
(4)

it Eat At

6i+6;—8k
FAY FaY FAY
~8i—-8;-6k
FAY M FAY

—61—6,;—8kF

st ' il

8i+8;-6k

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector 1s removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the

ring and perpendicular to the plane of the ring is
‘K times ‘MR?. Then the value of ‘K’ ig :

D
2)
@)

G

e [ = G0 =1 d oo GO
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38.

39.

40.

41,

T 71 TRUY % STTAR 1, v, T v, TAUHET =S
Tl Se T 2 | ufey ° ugea gfiiis & uei o

mﬂ:rsﬁ?lsmaagma%:

2
O Sim
® i
(3) rz?rg
» im

TF 0.15 TR0 =1 98 10 . 9% ¥ el st &
AT STH H THHE THH SO a9F Soadl ¢ | g |
ANE TF AET FT 9figer ghar &, A9

(g=10HI./4.2)

(1) 1.4 <./
2  OoTFEIm <. /3.
@) 42 f®mm <@ /4
(4 2.1 " x4

T STO=TET SRR ST 220 Hiee T8 el gfd o
ST 7, 11 A, 44 T2 A9 R FHE H@l e | TARHET
5 wifea 1 1 109 A gU, TR ey ° 911
T Bt B2

() 4TEER
@2 0.2TfER
(3) 0.4WFRR
4 2TEER

TS 12a TFME a1 YOy ‘R &1 GHM SR X,
@ ‘e’ S % HHaETg fANE au

() ‘a’ VS % 0 &F IMHER HI YRR FUS §
Hrgr ST

T FUSH! T rEehi GYa el e

(1) 41a% 991 3 a2

@  31a2 9913 a2

(3) 31a%dYuIa?

(4)  31a%du 41a2

12

38,

39.

40.

41.
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Three resistors having resistances ry, ¥y and ry

are connected as shown in the given circuit. The

. I3 . .

ratio = of currents in terms of resistances used
1

in the circuit is ;

(1) iy | IEI'S
-
@ i

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulge imparted to
the ball ig (g = 10 m/s2) nearly :

(1) 14kgm/s
(2) Okgmfs

3) 4.2kgm/s
) 2.1kgmfs

A step down transformer connected to an ac mains
supply of 220 V is made to operate at 11V, 44 W
lamp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

1) 4A
@ 02A
@ 04A
@ 2A

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the shape of,

@) an equilateral triangle of side ‘a’.
(1)
The magnetic dipole moments of the coil in each
case respectively are :

a square of gide ‘a’.

(1) 4Ia?and3Ia?
20 3la2and 31a2
(3) 3laZandIaZ

(4 3IlaZand4la?
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42,

44,

TF ‘m’ Ro99M F1 9 YA qag 9 9UH o7
v=kV_(k < 1) 9 9&fud foran sm 81

(V' =TeTTa =)
U7 g1 UG8 F TR 9T S S §
Rk?
(]-) 1_k2
" 2
@ Rkﬁ}
i k 2
® Rm]
R2k
@ Itk

T St LCR IRwe # 5.0 ¥ 1 U<, 80 HIEHH!
e T IR AT 40 37F 1 Wi 230 Siee %
TRadta sgfa & JemEd eh o 92 &

HIvia eTgfa W wifsk +t omeft oo wmrafa w4

el | <h1 I At e
1) 42 /4., 58 Tear/4.
@ 25 de=/4., 75 e/
(3)  50UEHA/H., 25 e /4.
@ 46 deT/4., b4 Hem/A,

ek U1 R 75931 & g9 | WAA =16 § 7 % g0 0
TFE YU A T T T g

Ife 98l w0 Afasr ¥ 36 = 9 w0 ‘9 ) yafim
foran ST, 1 4R 3 SR ST S T I g |
Y& i ‘g = S ¥

1
g =gin { 2gT2 }é

(L) 2o
o o)
o1 7R
X { gT” ]
4) 0=sin 1{—R]

13

42,

43.

44,

P2

A particle of mass ‘m’ is projected with a velocity
v=kV_(k <1)from the surface of the earth,

(V,=escape velocity)

The maximum height above the surface reached
by the particle is :

RI2
b T2
o k \12
2 R|—
kl_k)
an “2
3 Rl —
R%k
D Te

A series LCR circuit containing 5.0 H inductor,
80 nF capacitor and 40 Q resistor is connected to
230V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be ;

(1) 42 rad/s and 58 rad/s
(2) 25 rad/s and 75 rad/s
(3)  BHOrad/s and 25 rad/s
(4)  46rad/s and 54 rad/s

A particle moving in a circle of radius R with a
uniform speed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

1)

2)

)

[
M—
[
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46.

47,

R, 1 R, T3t =1 1 =etehi™ gaiid o9 U aot |
THHZd T 1A R, > > R, 1 S Hel Ui
T M IHHI S R

(1)
2)
3)
)

U WES A 27 < WeIE 220 e W AN Sl
21 o fhere T 9 91 At ¥ 1 9 g2 % fova
1 VAT RIS |

(1) 1980 3E
2 6603E
(3) 13209
4 15209

T 200 917, =TS 741 500 TH o899 i T9F D€
T 99 F 40 A oW | dgfam 2 &1
2 fF.m. +1 g=mm 2 ¥/ 20 9. R faf=a e
ST 8 941 T ST B ‘m’ B9 W 160 WAL
fremm 9 frarftea foren <tran &1 3@ T ‘m’ 61 91
o B8 Aqe TR § W1 (g=10 91./4.2)

0 20em 40 cm 160 e¢m

A

(1)

@)

b | =
o
=

Lo | =

(3)

|
3
=

)

14

45,

46.

47,
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Two conducting circular loops of radii R; and R,
are placed in the same plane with their centres
coinciding. If R;>>R,, the mutual inductance M
between them will be directly proportional to ;

) i—f
(2) g_;
(3) IR{_T
(4) %g“

Twenty seven drops of same size are charged at
220 V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

1) 1980V
2 660V

(3) 1320V
4 1520V

A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg is suspended from the rod at 20 cm
and another unknown mass ‘m’ is suspended from
the rod at 160 cm mark as shown in the figure,
Find the value of ‘m’ such that the rod is in
equilibrium. (g= 10 m/s?)

0 20cm 40 cm 160 cm
AN
2 kg m

.
e g

(B 15 58
1
=k

2) 5 8
1
=

(3) 3 g
1
—k

(4) g 58
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48,

49,

30 9.9 PEA T4 & A a9 ¥ 60 L. T W

e forg oy Sufem B1 9k o woaa <dw, 4=
Y % T AU THH 40 A FH W @ SAE, @
a1t wfafers ran <smm <5

A

+— 50 cm—>4—40 cm—>

(1)

2)

(3)

)

R e TN

20 9.Hl. THTE UV H, Tg INEl wiaras
BT |

20 9.9]. 9T 9, 98 araias giatare e |

30 V.. 90 W, IS Sfers Wiaters 2P|

30 WM. THae UV 9, T N wiatss
BT |

T FR T 9 e F i a5 A2 9
WA B &1 t=4 TFI8 WHR H &S A 50 TH
Tig Tass! + e FfREh st 81 t=6 9ve Wi
1 AT 9 @RU R e e 2 (A e g=10 H.A2L)

(1)

(2)

3)

@

15

2042 HI./A., 10 HLA2

20 91./4., 5 H./4.2

20 HL./AL, 0

202 9i./48., 0

43,

49,

P2

A point object is placed at a distance of 60 cm from
a convex lens of focal length 30 cm, If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 cm from it, the
final image would he formed at a distance of :

A

+—60 cm——40 cm—>

MNON N NN NN

(1) 20 cm from the plane mirror, it would be a
virtual image.

(2) 20 cm from the lens, it would be a real
image,

(3) 30 em from the lens, it would be a real
image.

(4) 30 cm from the plane mirror, it would be a
virtual image.

A car starts from rest and accelerates at 5 m/s2.
At t=4 s, a ball is dropped out of a window by a
person sitting in the car. What is the velocity and
acceleration of the ballatt=6s?

(Take g=10 m/s%)

(1) 2042 m/s, 10 m/s?

(2) 20 m/s, 5 m/g?

(3) 20 m/fs, 0

@)  20J2mls, O
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50.

9L,

@ 3 uftu o, fraeh Tesiien fome i A, Baen
C W TygH fFd o €1 fR y R fie favrma =

BT 7

A

¢ | - |

B E :

C E

(0

A

Or :

: ) s
.D—

y

O

5 tpy tg tg oty ty g
1
o | | T

—5V

(2)— OV
(3) 5V
— AV
(4) L o

STHIT - A ( THIEF9ET )
e H 8 S Y §

() UfArae st afufranie agd €, faEm

w9 Y v 3 gan fasniem ¥

@) rIAge sThE H e § TF 7 o T

T F TS oTgra ST 1

(3)  Afuamy freEds ereaias e 3 eEeer |

TN B 2

@) IR S UE TR & 9T aE e & |

16

50,
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For the given circuit, the input digital signals are

applied at the terminals A, B and C. What would
be the output at the terminal y ?

(2)

3

(4)

t; tg t3 ty t; tg

0V

——oV
Y

5V

5V
——0V

Section - A ([Chemistry)

51. The incorrect statement among the following

15 .

1)

)

3)

G

Actinoids are highly reactive metals,
especially when finely divided.

Actinoid contraction is greater for element
to element than Lanthanoid contraction.

Most of the trivalent Lanthanoid ions are
colorless 1in the solid state.

Lanthanoids are good conductors of heat and
electricity.
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92,

93,

94,

55,

6.

97,

ﬁ%awﬁqm%:

YU :

TfafE @ Rfaemia =us feefl (AREifEF
TesITaeE) o % € |

HATII :

OB Ud s SFATe USERl (Ai9-TReh<®h
U eI as) T 2 |

I YA ok TR H A KU g0 famedt O 9w
SWAA |

()  HIT1 TG § W w1 98 2

@ T HgT] TE wAT I T ¥ |

(3) THIRITITE HATII TN |

@ YT 9E § AfET A 1L T B

AT :

TRt | U TTU AR =g §

HF << HCI << HBr << HI.

HITII :

S9-S5 98 § = S W TS F, C1, Br, I 1 3THR
o%q1 a1 § 99-99 HF, HCl, HBr Ud HI & 94 &
T ST ST | ST ST WY aedn S § |
I YA ok TR H A KU g fasmed o 9 v

SWAA |

(1)  HITI T € W w1 98 2
2 T g7 T HAT I TE E |

@) EF ST UE wET 11 e B

@ HwATI TR E A e 11 e B

= & | wF @ fawey uw A ey W F o
Cp T Cy, ¥ TR Helt] 1 oI HT 8 ?

(1) C\IZROP

@ Cp+Cy=R

3 Cp—Cy=R

@ Cp=RCy

Tl 14 TeHR 3 Sfol SRl i 310: eh{-a0 Waheh Shifgeran
il e & Tau gl fawey ¥

L 3

@ 7

3 b

@ 2

1 amfie g wig emesi § ¥ w0 wewEst e
ST TR O SeTeie & 2

O SHfaam T@REs

@ e TEREsS

@ i FTREs

@ B s

FESISH &1 U {TedufaRs qreefie, grfeam, =
H 4 forg T o1 Sedsi Al 82

0 LEHm)

@ RE)

@) 3T ()

4  ITH(y)
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(Given below are two statements :

Statement I :
Aspirin and Paracetamol belong to the class of
narcotic analgesics.

Statement I1 :
Morphine and Heroin are non-narcotic analgesics.
In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is 1ncorrect but
Statement I1 is true.

(2) Both Statement I and Statement II are
true.

(3) Both Statement I and Statement II are
false.

(4) Statement I i1s correct but Statement I1
is false.

Statement I :

Acid strength increases in the order given as
HF << HC] << HBr << HI.

Statement I1 :

As the size of the elements F, Cl, Br, I increases
down the group, the bond strength of HF, HCI,
HBr and HI decreases and so the acid strength
increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is 1ncorrect but
Statement I1 is true.

(2) Both Statement I and Statement II are
true.

(3) Both Statement I and Statement II are
false.

(4) Statement I i1s correct but Statement I1
is false.

Which one among the following is the correct option
for right relationship between Cp and Gy, for one
mole of ideal gas ?

(1)  Cy=RCp
@ Cp+Cy=R
(3)  Cp—Cy=R
4 Cp=RGCy

The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cells is :

1 3
@ 7
@ 5
@ 2

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solventsis :

(1)  Beryllium chloride
(2)  Calcium chloride

(3)  Strontium chloride
(4) Magnesium chloride

Tritium, a radioactive isotope of hydrogen, emits
which of the following particles ?

(1)  Neutron (n)
(2) Beta(B™)
(3)  Alpha(w)
(4) Gamma (vy)
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98,

99,

60.

61.

62,

T Wl WIS ToRaT ST | o1 STTeehad argam
g
1)
(2)

5000 K 0%

1200 K a%

(3) 2200Kd%

4 1900K T

BF, U qHacila Td gz = i 81
AT T W01 Te SHh ORI IR ATl ol QA
%,ﬁv'q‘ﬂ::

() sp?Was

@ spiUd4

3 spUH6

4 sp’Ud6

=1 Tt sifafra @ gT&E s 2

CH,

CCH-CH=CHy+HBr Letls00):05 9
Hj
CHj
>CBr-CH, - CH,
CH,
CHj
"CH-CH,~ CHy - Br
CH,
CHj
CH - CH,— CHy— O — COCgH;
a
CH,
CH,

(1)
2)

(3)

(4) CH-CH-CH,
I

Br
NaCl, HCI W8 CH,COONa &l 3¥d a7 9 Hiel
STCTRT SHAYT: 126.45, 426.16 T&91.0 S cm2 mol —1
¥ 7d T R CH,COOH % HIeR =Ierendl ¥ |
() 540.48 S cm2 mol 1
(2)  201.28 S cm2 mol 1
(3)  390.71 S cm2 mol 1
(4) 698.28 S cm2 mol 1
el Efean e, 1 facel! o U ©yH 1,368 kHz
(frett &&=1) =it 3Tgfe W YORY <ar | HERE
(aHRY) 3R Icafsia Toeqa graeria fafewwor =
e ¥ o [9H9 19, c=3.0 X 108 ms 1]
(1) 21.92cm
(2) 219.3m
(3) 219.2m
(4) 2192m

=1 arfufirensti § 9 =59 g fasamm sifufea €2
e foremey 4 |

(1) 2Pb(NOy), —> 2PbO + 4NO, + 0,7

@  2KCI0,—>— 2KCl+30,

(3  Cry0,+2A1—2— ALO,+2Cr

@  Fe+2HCl—>FeCl,+H,T

CH,

18

58,

59.

60,

61.

62,

63.
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The maximum temperature that can be achieved
in blast furnace is :

(1)  upto 5000 K
2  upto1200K
3) upto2200K
(4) upto 1900 K

BF; ig planar and electron deficient compound,
Hybridization and number of electrons around the
central atom, respectively are ;

(1) spZand$8
(2) sp®and4
(3) spandé6
(4 spZand6

The major product of the following chemical
reaction is :

CH, _
" CH- CH=CH,+ HBr Cels00%:0s 9
Hg
CH,_
(1) _CBr—CH,-CH,
CH,
CH,
@ “CH -CH,—CH,—Br
CH,
CH,_
& “CH-CH, - CH,~ 0~ COCgH,
CH,
i
@ ~CH-CH-CH,
CH, |

Br
The molar conductance of NaCl, HC] and
CH4;COONa at infinite dilution are 126.45, 426.16
and 91.0 S cm?2 mol — ! respectively. The molar
conductance of CH,COOH at infinite dilution is.
Choose the right option for your answer.

(1) 540.48 SemZ2mol—1
() 20128 SemZ2mol—1
(3) 390.71S emZ2mol—1
(4) 69828 S emZ2mol—1

A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz),
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x108meg—1]

1) 21.92cm
@ 219.3m
@) 219.2m
4 2192m

Which of the following reactions is the metal
displacement reaction ? Choose the right option.

(1) 2Ph(NO,),— 2PbO +4NO, + 0,1
@  2KCIO0, —>— 2KCl+ 30,

3  CryOq+2A1—2 ALO,+2Cr

49) Fe+2HCl— FeCly+H,T

sh
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64.

65,

66,

67,

68.

69.

Hfoea gvE =1 % g0 e e s €177 =

farea g |
1) g faeraa
(2) NaClfaaz=
B TR foer
@ = EEEE
AT W9 e Fre A ©
1 C,H;0
@  CgHyy
@ C4HgO
@ CyHgO
Geit-1 =1 fremm |=it-11 | 1 |
gelt-1 Heit-11
@ PClg @ =9 fofaet
b) SFg ()  Trerrof w9
(¢ BrFg (i) STEHARE
@ BF, (iv) Toamona fefaias
T faw e faredi § A TR SR |

1) (@)-(iv), (b)-(iid), (0)-(i), (d)-@)
2 (@)-av), (b)-(), (¢)-Q), (d)-(1)
3 (@)-), b)), (©)-Gv), [d)-0)
@ (a)-[i), (b)-(), (©)-Gv), (d)-(D)

e sigerehl | § $F AT SgaeT & g Mt

T ST & 2

(1 <HA

2) T

(3)  E-66

(4 e

RBC &l %, a1 - W s -
() faefEB, =

@ TR B, H

3 faerta B, =t

@ TR B, =

34 AT =1 U8 o fedar s1ivertes & ary fohen
e I TN S 4R | e ©

CH, CH,
1)  CcHY ‘“lel” ~CH,
CH,
CH,
@ cH No,
CHZ CH3
@ CHY SN~
CH,
@ cHY  \NH

64,
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67.
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69.
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The right option for the statement “Tyndall effect
is exhibited by”, is :

(1) Ureasolution

(2)  NaClsolution

(3)  Glucose solution

(4)  Starch solution

The compound which shows metamerism is ;

1 C4H,,0
(2) CﬁH 12
3  CaHgO
@  CyHO
Match List - I with List - I1.
List -1 List -1I
@ PCly @ Square pyramidal
(b) BFg (i)  Trigonal planar
()  BrFy (i) Octahedral
d) BF, (dv) Trigonal bipyramidal

Choose the correct answer from the options given
below,

(1) (a)-Gv), (b)-Gid), (¢)-(1), (d)-(1)

(2)  (a)-Gv), (b)-Giid), (0)-(), (D)-(1)

3  (a)-G), (b)-(id), {c)-(v), (d)-()

(4)  (a)-Gii), (b)-Q), (0)-Gv), (d)-(1)

Which one of the following polymers is prepared
by addition polymerisation 7

(1) Dacron

(2) Teflon

(3)  Nylon-66

(4)  Novolac

The RBC deficiency is deficiency digease of
(1)  VitaminB,

(2) Vitamin By,

(3)  Vitamin By

(4)  Vitamin B,

Identify the compound that will react with Hinsherg's
reagent to give a solid which dissolves in alkali.

CH, CH,
O cHY “III/ “CH,
CH,

CH,
@ cH”  “SNo,

CHE CH3
@ CHyY  NH

CH,
@ cHY NH

T
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70.

71

72,

73.

74,

5.

Zr (Z=40) & Hf (Z =72) &% WHIvaH Ug a1+
el T ¥ T R

1) < % TEEbE e JEE

@ SF 9HF 9HE ¥ 95T §

(3) Tamvi 9wy

(4) TS S

wforedl SBiHeERe (EDTA) S5 € :

(1) N T et % Wy ERE e

@ RO’ TS N T WAMS 3 T TZR
T

3) UEE e

@ N TR eS|y fgEge e

2-5IM U= & fIeEgRarsriee iR =1 7=

IR U237 B | 35 Seure i Fwfor swenfia g
2

(1)
(2)

TFA T1H «©
Heoh 0 W
@ TS

@ BwEE e wm

TF FEF AN 5 78% (IR gR) FE- Td I
TfAeT SEEISH = A & | §9 AT % Jengam! 9
w1 T fareu & [T YR : C=12, H=1]

() CH,
@ CH

3 CH,
@ CH,

T (K) W EBATYEHT #1 pK,, & UEifes 3 &
pK, A FH: 3.27 TS 4.77 §1 TEATGSATHAITIN
wHee faerm % pH %1 w9l fawey § ¢

1 625
2 850
3 550
@ 775

Sfeam FEREe T 39 Ee Ud 959 oy o
A #

() <A e

(2) A ST U f5ers

@ <F W

@) T fgos U6 W@

20

70.

71.

72,

73.

74,

76,

Hindi+English

Zr (Z=40) and Hf (Z =72) have similar atomic and
ionic radii because of ;

(1) having similar chemical properties
(2)  belonging to same group

(3)  diagonal relationship

(4)  lanthanoid contraction

Ethylene diaminetetraacetate (EDTA)ionis:

(1) Tridentate ligand with three “N” donor
atoms

(2)  Hexadentate ligand with four “O” and two
“N” donor atoms

(3)  Unidentate ligand

(4) Bidentate ligand with two “N” donor atoms

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane ig Pent-2-ene. This
product formation is based on ?

() Huckel's Rule
(2)  Saytzeffs Rule
(3) Hund’s Rule

(4) Hofmann Rule

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
is : [Atomic wt. of Cis 12, H 15 1]

() CH,
@ CH

(3 CH,
@ CH,

The pKj, of dimethylamine and pK, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
solution is

() 625
@ 850
(3) 550
@ 775

The structures of beryllium chloride in golid state
and vapour phase, are :

(1) Chain in both

(2)  Chain and dimer, respectively
(3) Linear in both

(4)  Dimer and Linear, respectively
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76.

77

78,

= 1 o form fafl = swam # stafess s ag =l
M T Thd e ST FNHF AT RETE?

()  HSA IR
() T TTEe
(3)  SvATER

@ TR

TR SIThTVI TR ( SSFTIAe TafHiee ) Uaheh hiltSa
H =R UE e i ot e 8y
g3 fowey 2 ¢

1 12,6

@ 8,4

@ 6,12

@ 2,1

2.6-SRHTT -2 421 1 el 91§ ;
#
P
Ry

21

76.

7.

78.

P2

Which one of the following methods can be used to
obtain highly pure metal which is liquid at room
temperature ?

(1) Zonerefining

(2)  Electrolysis

(3)  Chromatography
(4)  Distillation

Right option for the number of tetrahedral and
octahedral voids in hexagonal primitive unit cell
are ;

1 12,6
@ 8,4
3 6,12
@ 21

The correct structure of 2,6-Dimethyl-dec-4-ene
18 :

=
7
S
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79.

80.

81.

29 Hindi+English
a9 o fa = 98 e freum o s fafisardi | 790 Choose the correct option for graphical
T T & T vs. oA # TR S @R representation of Boyle’slaw, which shows a graph

of pressure vs. volume of a gas at different
T temperatures:
: r
- -
v 33 K )
& 0 Ew 600
& S G0
Volume (V) —>» o 00
(dm?) R
Volume (V) —»
T {dm?)
: r
L -
® 33 200K D
& 0 £ 200
a: ® £Z e
Volume (V) —» L 00
(dm3) -
Volume (V) —
1 (dm?)
& (200 K, 400 K, 600 K) T
o Fr
@ 32 E’, A& [(200 K, 400 K, 600 K)
ol (L
£ ® ZZ
Volume (V) —» Z
(dm?) &
& Volume (V) —
o s%
< QQ &
il »
< @0$ T “S}Q@’%
&~ S~ e
@ 73 & Dz
EJE e’ $r o~
2 “@ =
Ay L L
Volume (V) —» &
(dm3) P
Y Vol
= faeT=mi =1 == T (dc;n%;ne M2
250 mlﬁﬁﬁ‘m g TP (CeH 1206)_'*:‘ T (Py), 80. The following solutions wetre prepared by dissolving
250 ml & § 10 g gRE (CH,N,0) i S (Py) 10 g of glucose (CgH;,0¢) in 250 ml of water (P;),
Td 250 ml ST T 10 g Gohld (C1oH,5017) EAR I NE TN 10 g of urea (CH,N,0) in 250 m] of water (Py) and
(Py) | 7 ToeRml & TR el % Wed 3H &l e 10 2 0¢ suctose koypllsnUyy) 10 200 Ml ot
water (Pg). The right option for the decreasing
forpea 2 order of osmotic pressure of these solutions is :
() Py>P,>P, ) Py>P,>P,
@ P,>P,>P, % gﬂzglzgﬁ
1 2 3
B Py>Py,>P, 4 Py>P,>P]
(4) ]‘_:'2 = P3‘ > Py 81, The correct sequence of bond enthalpy of ‘C—X bond
‘C-X d9 A oY Tl W ORI FI T is ;
() CHy—Cl> CHy—F > CHy—Br> CHy—1 (1) CH;—Cl>CHy—F>CH;—Br>CH;—1I
@ CHy—F<CHy—Cl<CHy—Br<CH,-1I g ggg—g"Sﬁg—g}{gga—gr‘:ggri
L o s " g~ ¥ =>UHg—1d>UkHs—br=>0Lhg—
g CH3—-F>CHy—Cl>CHy—Br>CH;-1 & CH, F<CH,—Cl>CH, Br>CH,-1

CH,-F < CHy—Cl> CH;—Br> CHy -1
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82,

83.

84.

85,

U & Fream T Seuur H fedel i R
O o

@ 120°

@) 180°

@ 60

S TG F1 M e Tt orfufeer & ufa

SATHI F RN TG T | ST T2 I FH27

T2 |

() 5o T o6 S Sl Tt o qH 5=
YT oI 2

@ e I Se o oty faem B

(3) %@Eﬁﬁf#ﬂaﬁ T4 T 31 I o

|

@) S TG oo afE o9 2 2

= Tt sifufsean o fafifa wef difs =

TUPAC T8 1 § ?

(i) C,H;MgBr, 7% %1
T (i) HyO, H — ¥
1)  2-Tf =ge-2-3id
@)  2-Hfe grE-2-31fa
(3 TA.2-37d
(4)  YA-3-30d

et sfifsren A—B & fou afufsrar =1 w0
— 4.2 kJ mol ~ ! TF UfFHav w THEW 9.6 kd mol — 1
T afafea & fav v ffas s=1i o e

A

! B

() PE A

——

= -
Reaction Progress
A

!

@ PE B
A

b

Reaction Progress
A

AVAN
3 PE|a

B

——

5 -
Reaction Progress
F

AN

A B

Reaction Progress

82,

83.

84,

85.

P2
Dihedral angle of least stable conformer of ethane
18 :
G
@ 1200
(3) 180°
@ 60

Noble gases are named because of their inertness
towards reactivity. Identify an incorrect

statement about them.
(1) Noble gases have large positive values of
electron gain enthalpy.

(2)  Noble gases are sparingly soluble in water,

(3)  Noble gases have very high melting and
boiling points.

(4)  Noble gases have weak dispersion forces.

What is the [IUPAC name of the organic compound
formed in the following chemical reaction ?

(i) CoHsMgBr, dry Ether
(i) H,O, H*

(1)  2-methyl butan-2-ol

(2)  2-methyl propan-2-ol

(3) pentan-2-ol

(4)  pentan-3-ol

For a reaction A—B, enthalpy of reaction is
—4.2 kJ mol~! and enthalpy of activation is

9.6 kdJ mol 1. The correct potential energy profile
for the reaction is shown in option.

¥

3
! B
a PE A

Reaction Progress
1

h
ITE /\
) K B

- -
Reaction Progress
r

h
T/\
PE| A

B

n -
Reaction Progress

Acetone — Product

(3)

{

JE\f\

Reaction Progress

4)
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86.

87.

88,

THET - B (THEH0E )

geit-1 &1 TRer geit-11 9 &4 |
Holi-1 geli-11

@ 280, + 0, G s
280,(g)

k) HOClg) hv (i) YA~
OH+C1

@ CaCO,+H,80,— (i) ST &R
CaS0,+H,0+ CO,

@ NOy@ _hv_, (v) e
NO{(g)+O(g) EECR

T e e fomredl 5 o W@ WA |

D (a)(id, (b)-(i), (e)-Av), [@d-O)

2 @-0), b)-G), (©)-(id), (d)-0v)

B (@)-@), )G, (©)-iv), -G

@ (@)-v), (b)-(ii), (-, (d)-Gii)

CH,CH,CO0 ™ Na* —2 e CH,CH, +

Na,CO,.

Iuga AR | eTufeer ST ieRHe T i Ug=H |

(1) DIBAL-H

@ B,H,

(3)  TATET FrEhIH

@  CaO

45°C R T faaem fogd s 1d sfae 1 Jier
STUE 3 : 2 B, I A9 @ % T H el T
g

[45°C X S %1 9199 T 280 mm Hg TAT 37T
= A9 M 420 mm Hg §1 2728 19 7]

(1) 3560 mm Hg
(2) 160 mm Hg
(3) 168mm Hg
(4) 336 mm Hg

24

36,

37.

38,

Hindi+English

Section - B (Chemistry)

Match List - I with List - I1.

List -1 List - 11

@  280,(g) +0x(g)— (i) Acidrain
2504(g)

) HOClg)__h | (i) Smog
OH+Cl

(0 CaCOz+Hy80,—~ (i) Ozone
Cab0,+H,0+CO, depletion

) NOg_bv (iv) Tropospheric
NOig)+ O(g) pollution

Choose the correct answer from the options given
below.

(1 (@)-Gi), (b)), (e)-Gv), (d)-{)
@) (2)-@), (b)), (c)-ii), (d)-{v)
(3 (@)-Gi), ()-(d), ()-(iv), (d)-(1)
@ (a)-(v), (b)-(11}, (0)-(), (d)-(11)
CH CH,C00~Na*t — 220 GH,CH, +

Na,CO,.

Consider the above reaction and identify the
missing reagent/chemical.

(1) DIBAL-H

2 B,Hg

(3)  Red Phosphorus
) CaO

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3; 2 is;

[At 45°C vapour pressure of benzene is
280 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

(1) 350mm of Hg
() 160 mm of Hg
(3) 168 mm of Hg
(4) 336 mm of Hg
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89.

90.

weit-1 1 fier gei-11 | |

()

(i) TEHF-HE
arfurfeman

(i) Bemr safufsma

I
() R—C-CH,+
NaQOX —»

(¢ R—CH,—OH
+R'COOH
s HoS0y |

(d) R-CH,COOH (iv) TR

() Xo/aE P |
(ii) HoO

= few o foeredl § 9 T ST |
1) (a)-(), (b)-(iid), (c)-(iv), (d)-Q@)
@ (@-v), (0)-0), (0)-(id), (d)-(ii)
3 (a)-i), (b)), (0)-G), (d)-Gv)
@ (@)-0), (0)-v), (o)-(iid), (d)-(id)

=1 et sfafern o gered] SR X §

2
CH, C
cS, . H.O* g

0l

CH‘\
-

CH(OCrOHCL),

: _CH(OCOCH,),
B0
CH

A

2)
(3)
4)

89.

90,

P2
Match List - I with List - I1.
List -1 List - IT
() COHCL _ 6 Hell-Volhami-
Anhyd. AICL/ Zelinsk )
CuCl elinsky reacfion
0
() R-C-CH,+ (1) Gattermann-Koch
NaQOX —» reaction
(¢) R—CH,—-0OH (i11) Haloform
+R'COOH reaction

Cone. HoS04 |

d) R-CH,COOH  (iv) Esterification

) XoRed P
(i) HyO

Choose the correct answer from the options given
below.

1 @-a), b)-ii), ()-{v), (d)-0)
2 @), -, (©)-3), (d)-[ii)
@) (@-au), (b)-0), (-, (d)-av)
@  (@-©, ()-av), (c)-(m), (d)-(1)

The intermediate compound ‘X’ in the following
chemical reaction is :

)
CH, G
. ~
_Cl
CH__
- : _CH(OCrOHCL),
% : _CH(OCOCH,),
A
CH__
@ O cl

T
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91.

92,

93.

NH,
Br Br
NalNG,, HCl
———
0-5%C
Br
(1)

T Tt stfafen 4 fAfda s § -
O 0
Il
CH,—C—-OCH,
NaBH,
CoH0H

CH,

OH o

Il
CH,—-C—-OCH,
(1)
CH,

OH H

I
CHy~C~OCH,
OH

CH,4

2)

CH, - CH,—OH
(3)
CH,4

OH I

|
CHy~C~CH,
) OH

CH,
ot werm wife =1 S1fufsnan & T s geiem

(1]:1]_{ vis %J FEAFHA — 5% 103K 3| Afafwan

& fUE, 1 WM €1 e fasked < |
(e g : R=8.314 JK~1mol 1]
() —83kJmol1!
2) 41.5kJmol™!
(3) 83.0kJmol!
4@ 166 kdJ mol !

gErETeE Sfufiren & feu A | sfieds R

N, Cl™

Br Er Br Br
B E ]
Br Br

CuCN/KCN
H,0
CH,CH,OH
HI

@)
(3)
4)

26

Hindi+English
91, The product formed in the following chemical
reactionis :
T 0
CH2 — C T OCHS
NaBH, 9
CH, C,H;0OH
OH 0
i
CHE = C o OCHa
oy
CH,
OH H
|
CHs— (|3 — OCHj
2) OH
CHg
0O
CH,—CH,—OH
3)
CH,
OH H
|
CH,;— (;J —CH,
(4) OH
CH,
1
92, The slope of Arrhenius Plot [11’1 k v/s f] of first
order reaction is —5x 103 K. The value of E 2 of
the reaction is. Choose the correct option for your
ANSWer.
[GivenR=8.314 JK~1mol 1]
() —83kJmol!
2  41.5kJ mol 1
(3) 83.0kJmol~1
4  166kJ mol~!
93. The reagent ‘R’ in the given sequence of chemical
reactionis :
NH, N} C1-
Br Br NaNO,, HCL Br Br . Br Br
0 - 5°C
Br Br Br
(1) CuCN/KCN
2) H,0
(3) CHiCH,OH
(4) HI
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94.

95.

96.

97.

98,

99.

gyar Rl 3 feht eneel 19 % T eravia
T F o e famea §

(1) AU#0, AS, ;=0

@ AU=0,48,,,=0

3  AU=0, AS, ;%0

@ AU=0, AS,,,,;#0

3l % Frefatea A # § 91 1 gagaieeiTs

TH T 87
(1) Fe2+, Mn2+
@ 02, F-

(3) Nat, Mg2+t
(4 Mn2t, Fe?t

0.007 M THITeH 7 HI1 HIGL ATAFII
20 S ecm? mol ~1 2| wHifes o171 w1 fadism feeris
w1 §? T Ty 94
A L= 350 S em® mol

H

A° =508 em? mol ™!
CH5CO0

()  250x10 " FmolL 1!
2 1.75x10 " *mol L1
(3) 250x10 " *molL~!
4@ 1.75x10 %mol L1

fou g stopst O 9§ PF SyEE g wE?
1) NO,
@ POCL
3 CH,0
@  ShCl
weir-1 % e geir-11 9 |
-1 -1

(@  [Fe(CN)gl3~ @ 592BM

()  [Fe(Hy0)g]3* (i) OBM
© [Fe(CN)gJ4~ Gii) 4.90 BM
@ [Fe,0)g2* (v 178BM

= feu U foeredl o 9 TE SO |

(L (@)-v), (h)-(G), (©)-(ii), (d)-(iii)

@ (a)-Gv), (b)-Gi), (0)-G), (d)-(iii)

(3)  (a)-(1), (0)-Gv), (c)-(u1), (d)-(2)

@  (a)-(), ©)-(id), (©)-iv), (d)-(i)

1 o 3 | 0°C R U fhgu fsad 4 ¢ 0, T
2 g H, &t T8 &I, S9H $ I (atm H) F TR
forsped =l A |

[ T : R=0.082 L atm mol~ 1K~ 1, T=273 K]
1) 26.02

2 2518
@ 2602
4  25.18

94,

95.

96.

97,

98.

99.

P2

For irreversible expansion of an ideal gas under
isothermal condition, the correct optionis;

(1)  AU=%0, AS, ;=0
@ AU=0,A8, ;=0
3 AU#O0, AS, . #0
4 AU=0, AS, . #0

From the following pairs of ions which one is not
an iso-electronic pair ?

(1) Fe2t,K Mn2+

2 02, F-

(3) Nat, Mg2+

(4) Mn2t, Fed3+

The molar conductivity of 0.007 M acetic acid is
20 8 cm2 mol~!. What is the dissociation
constant of acetic acid ? Choose the correct option,

A:I+= 360 8 em? mol !
A*;H CDG_=5DScm2 mol 7!
a3
b X Y mo -
(1) 2.50x107% molL.—1
5 X T mo &
@ 1.75x10"* molL~!
5 x T mo -
(3) 2.50x10"* molL!
LiaX 107 mol LT
@ 1.95%x107% molL~1

Which of the following molecules is non-polar in
nature ?

(1) NO,
@ POCL
@) CH,0
@  ShCl,
Match List - I with List - I

List -1 List - II
@ [Fe(CN)g]3- @ 5.92BM
®  [Fe(H,004]3* i) OBM
©  [Fe(CN)gl*~ (i) 4.90BM
@  [Fe(H,0),]2* Gv) 1.73BM

Choose the correct answer from the options given
below.

@ @-av), (b)), (¢)-), (d)-i1)
@  (@-v), (b)), ©-0, (d)-ai)
@) @-@), b)-(v), (©)-(ii), (d)-@)
4 @-0), (b)-(ii), (¢)-(iv), (d)-(id)

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g Oy and 2 g H, confined
in a total volume of one litre at 0°C 15 :

[Given R=0.082 L atm mol ~ 1K~ 1 T=273 K]

0 2602
2) 2518
@ 2602
4 2518
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100.

101.

102,

103.

104,

105.

= o 9 Tore =resen o, 97 T FaTe 9 T %
IR, Sfa 9 78l e e ?

1) CO,<8i0, TR0 71 6
< 8n0, < PbO, TEd HA Y

@ HF <HCI 3T T %
< HBr < HI ECSE R

@ H,0<H,S pK,, T Fed oA
< HySe < H,Te k|

4 NH,;<PH, e A
< AsH, < ShH, e HA |

IAHT - A (Stiafas ; seafaieRe )

Y HIeHeT § fFae gR Saied ufia far =
THRAIR?

1 fSfm

2) Al

(8) T TRl

(4 T TR

Frefafeg § ¥ $F |9 S99 Tq 22
1) FeEw ey, Few o wifieesr & i Rl
et 4 W IR ARG s & o,
U Y ] iR F F
Uiyas =] Afea awl § Ush T g
3T AR SHITSEREE 39 B €|
YEHeRT, IRl TR St Sl # el St ¥ |
UREEEhT ST, g & 35T SUTeerd gref
3R FifrrEe § Sufted veiel % o= sy
1 M FH S|
T UIEY o WATHRT ¥ WA &, T fi ueu &
afeierT TR TR 3 ToQ 9 o1 Ies 7Y e
o8 WA % SR afderr W STHaTe ®9 5 fir=
TR & TRITHY 19 ST & 2
(1) ST W

RUELED

(2)
TSI 9T

(3)
(4 IS TETO

fr=fafes ° 9 =0 o FiF TF TE BReel 9"
SEAFEE?

(1)  SAETReE fomem

2) R =T
(8) TSI TS

@) SERERA

F3 9% <9 fF fefsror 3R gifeaf, A TR %
SSTTY] SeTfed A & | U™ WISl S S el ST § 7
1) TauHssE

2 BHERE

(8) BEERH

4) THESTS

(2)

(3)
@)

28

100,

101.

102,

103.

104.

105.

Hindi+English

In which one of the following arrangements the
given sequence is not strictly according to the
properties indicated against it ?

1) COy,<810, Increasing
<8n0, < PbO, oxidizing power

(2) HF<HCI Increasing acidic
< HBr < HI strength

@) H,0<H,S Increasing pK,
< HoSe < HyTe values

4) NH,; <PH;4 Increasing
<AsH, < 5bH,4 acldic character

Section - A (Biology : Botany)

Mutations in plant cells can be induced by :

(1)  Zeatin

(2) Kinetin

(3) Infraredrays
(4) Gammarays

Which of the following is an incorrect
statement ?

(1) Nuclear pores act as passages for proteins
and RNA molecules in both directions
between nucleus and cytoplasm.

Mature sieve tube elements possess a
conspicuous nucleus and usual cytoplasmic
organelles.

Microbodies are present both in plant and
animal cells,

The perinuclear space forms a barrier
between the materials present inside the
nucleus and that of the cytoplasm.

)

3)
4)

The term used for transfer of pollen grains from
anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to stigma, is :

(1)  Cleistogamy

(2)  Xenogamy

(3)  Geitonogamy

(4) Chasmogamy

The factor that leads to Founder effect in a
population is :

(1)  Geneticdrift

(2)  Natural selection

(3) Genetic recombination

(4) Mutation

Genera like Selaginella and Salvinia produce two
kinds of spores. Such plants are known as :

(1)  Heterosporous
(2) Homosorus

(3) Heterosorus
(4)  Homosporous
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106. SHEI FRT TS H1 STUEH, JHS 61 o iR
F, iR F, Tedl &I frfafaa § @ fea fo g
THET ST TFAT & ?
(L FE
@ e o
(3) TE
@ TR
107. ool 4o frad 9 Sia € 7
() = O iR A
2 =ETAN
@ 9
4 HX
108. Feit- 1 0 FEr - 11 % T gl i |
- 1 - 1
: - |== stEwd | sangd
(@) |85 O | siferer st
© [I%= = (iii) |59 e1o% ® 5 B
@ [fag = (iv) ﬂ‘;ﬁ@ o
= T3 T fomeni ° @ e S g
(@ ((b) (@ ()
1 @ @  Gv) ()
2 @ @ @ @)
3 v @ @ o
@ (@ @ Gv) @
109. S farad 9 R €2
O CAGELCER
2 HT@EYH
(3) REFEeH
@) F FRESEsE
110. T{Usa 7o O TH et CRETL|
fefaferd g FA WMEAM £ ?
1)  8-FTHY IR 8-HITHT
(@)  8-FTHME AR 7-FSHE
(B)  T-HEHT IR S-HITHRA
@)  T-FEHE IR 7R
111. THfa ¥ siausira gfaeasf & amesE, gfasaat 9

el sfasl = 29T STsifaan & fore wim =t fafy =
e Teman 2rm 7

(1)  Y&m

@ |9 s
@ e

(4)  HEIHI

29
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107.

108.

109.

110.

111.

P2

The production of gametes by the parents,
formation of zygotes, the F; and F, plants, can be
understood from a diagram called :

(1) Netsguare
(2)  Bullet square
(3)  Punchsquare
(4) Punnett square
Dadelphous stamens are found in :
(1) China rose and citrus
(2) China rose
(3) Citrus
(4) Pea
Match List - I with List - I1.
List -1 List -II
(a) | Cohesion @ I‘ﬁi{[orle attraction in
liguid phase
Mutual attraction
(b) | Adhesion (11) |]among water
molecules
(c) |Surface tension |(iii) W atenlosgunaoud
phase
oy | i (iv) Attraction towards
polar surfaces

Choose the correct answer from the options given
below.

(@ @d @ @
D W O a @
@ @ a) @O @
@ W @ @ @O
¢ @ @ )
Gemmae are presentin :
(1) Some Liverworts
(2)  Mosses
(3)  Pteridophytes
(4)  Some Gymnosperms

A typical angiosperm embryo sac at maturity is

(1)  8-nucleate and 8-celled
(2) 8-nucleate and 7-celled
(3)  T-nucleate and 8-celled
(4)  T-nucleate and 7-celled

Inspite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1)  Predation

(2)  Resource partitioning
(3) Competitive release
4)  Mutualism
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112,

113.

114.

115.

116.

117.

118.

gEtTST SuA. T, Wit % oy g whwer §
yiaer gUATA il faem 9 =g ford sresiaa s 8 ?
(1) UifaREs

2 FRTATY

(3 SLEAU

4 fe=m

S W W, ufifead dmEs 9 oMinfea ST
=Rl o o 9.4, fafror & st S g aw
9 FY femd §7

(1) &I Al afs

@ e ufgei

(3) I AR 9iEEi

@ T o g

frfafas O 9 Fi9 9 See S 30 Hd § 7
(1 re-sa T

@ ¥ e

3 X e

@ e e

THeRY o Fege § Urey fafir= qefi &1 ST i 2
o1 fafs gaR =t demet & fi % fag faf=
STereTeT T STIERU Hd & | SH &§THA ol T Hal
ST e ?

1)  OigeEd

(2) T

3) SR

@ gEEd

Frefafaa § 4 &9 1 ey Swafamed 82
(1) OBEHY Gem

()  FH T

(8) WM

@) TR wiferaTe

TR o S WISyl H YT & 3TaH &1 TH
FHAE?

L

2 g

(3) @Al

@) e HiAH

SFTE, AT, WERRY SR SHewm SE dvel #
gmffnm, et T T v O 9 wefig = S

,
(1)
(2)
(3)
(4)

TR FEA
=T 3T

= I
T ST
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During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out ;

(1)  Polysaccharides
(2) RNA

(3) DNA

(4)  Histones

DNA strands on a gel stained with ethidium
bromide when viewed under UV radiation, appear
as :

(1)  Bright blue bands
(2)  Yellow bands

(3)  Brightorange bands
(4)  Dark red bands

Which of the following algae produce Carrageen ?
oy

Blue-green algae

(2)  Greenalgae
(3) Brownalgae
(4) Redalgae

Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called :

(1) Matunty

(2)  Elasticity

(3)  Flexibility

(4)  Plasticity

Which of the following plants 1s monoecious ?
(1)  Cyeas circinalis

(2)  Caricapapaya

(3) Chara

4)  Marchantia polyvmorpha

The site of perception of light in plants during
photoperiodism is ;

(1) Leaf

(2)  Shootapex
(3 Stem

@)  Axillarybud

The amount of nutrients, such as carbon, nitrogen,
phosphorus and calcium present in the soil at any
given time, is referred as ;

(1)  Standing crop

(2) Chmax

(3) Climax community
(4)  Standing state

sh
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119. et - I 6 ol - [T % W gofad i |
e - 1 = - 10
(a) [aTaTY OEIUES
(b) [k SHfazy () |gafE fgam
(©) |feftas aege (iii) [ =1 aTEH-veA
(d) [Tk (iv) |- SR
= 3 T foweul O 9 W S g
@ (b)) ©
O v @ @ G
@ G @ G
@ @ @ @) @
@ @ @ a) @
120. frfafiea o O srefgst fawrem =t ffm srawen |
RS, o favTe B § 2
(1)  SfeEeen - 11
(2) T - ]
@) T - 11
(@) TvEEE - 11
121. WM T CO, Feriam § veen v s F:= e ?
(1)  RIERFEEEs 37
(2  UTEHEsE 3T
(3) ST EfEF v
(@ I e
122, Tr=fafEa § 9 =9 91 %97 98 98 872
1) TH 9 9 uie= § Fen w1 fifhe d
AL
@  WHE H SR 1 TR e 321 g
zl
@) g | Stavr w1 T o gidn g
g
@ e w1 TR woa di g
123. Tr=afafen O @ fF S § ¥ @@ & &9 °
e g § 7
()  FoufrTa
(2) TEFTH
@) T
@  Fedieg
124. AT H F FA & forg, S gae= 3 3C T 519

i T Toran S & 9« I8 9ishan =2 weamt © 2

(1) G
@)  IEEE

() A fafea
@ e FRE

31
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123.

124,

P2
Match List - I with List - I1.
List -1 List - 11
(a) |Lenticels (1) |Phellogen
(b} |Cork cambium  |{ii} |Suberin deposition
(e) |Secondary cortex |(i11) |Exchange of gases
(d) |Cork (iv) |Phelloderm

Choose the correct answer from the options given
below.

(@ (b) () (d)
O @ G @O )
@ @ O @ @
@ @ O @ o
@ @ @ o O

Which of the following stages of meiosis involves
division of centromere ?

(1)  Telophasell
(2) Metaphasel
(3)  Metaphasell
(4)  Anaphasell

The first stable product of CO, fixation in sorghum
18

(1)  Phosphoglyceric acid
(2) Pyruvicacid

(3) Oxaloacetic acid

(4) Succinic acid

Which of the following statements is not correct ?

D

Pyramid of numbers in a grassland

ecosystem 1s upright.

(2) Pyramid of biomass in sea 1s generally
mmverted.

(3) Pyramid of biomass in sea is generally
upright.

(4)  Pyramid of energy is always upright.

Which of the following algae containg mannitol as
reserve food material ?

(1) Ulothrix
(2)  Ectocarpus
3) Gracilaria
4) Volvox

When gene targetting involving gene amplification
18 attempted in an individual's tigsue to treat
disease, it is known as ;

(1)  Safety testing

(2)  Biopiracy

(3) Gene therapy

(4)  Molecular diagnosis
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125. et - I =0 et - 11§ gufaa SIS
Tl - 1 =it - 11
(a) [TsRedt (i) 5. ';E;ﬁ ARl
3 .. |t Suspor § fevap-
(b) |TewiEE | G s = Sferer
© |gafag | Gi) [Saeefive # sirdfaa
[T i difewm §
() |fawet (iv) o : -
T T3 T Taeedl | 9 wE S i
@ (b)) © @
L @ @ @ 0
2 @ @ @ 0
3 @ Gv) ) ()
@ @) Gv) @ (ii)
126, it - I sl Geit - 11 3 |ig gufem wifs |
el - 1 el - 1
(a) |Fromea TeraH (i) [T
(b) [UTEY Fdeh Hadq (ii) [T
(o) [ATtEeA Taelq (i) [SATRAT
(d) [gEadere (iv) [fersiryy et a1gw
i 3 T fosredl ° 9 w8 W g+
@ (b @©
(1 v @ @ @
(2 Gu av @ @
6 @ @ (v @
4 au @ @ (11)
127. 7a fagma (Fga srm) w1 i v fam &
@ (dna 2, mrNa O, (@
(1)  (a)-9TGRHT, (b}'wg%m;;
(c)- R IearoT; (d)-
@ () ; (b)-STIRIE;
(0)-UTERHYT; (d)-TEF
3)  (a)-FH=I,; (b)-HfaghqH;
(c)-TTAET; (d)-9RBFHYT
@ () ; (b)-SFIRIGH;
(©)-FHT=IOT; (d)-HT2H
128. THU GPP-R=NPP ¥ R & fAeftg =@ & 7
(1) YEIEF
2 Tafew st
(3) TUHAFF
(4)  IHERY FH
129. ST TORETER, URH F &1 IUER el & 78 H
feorg S/ @ 7= I8 T T & 7
1) sEfEg®
2) Ol
(8)  idFHel
@ SR
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Match List - I with List - I1,

List -1 List - 11
(@) | Cristae @ Primary constriction in
chromosome
, ... |Disc-shaped sacs in
T
o) [Hhylakaids @) Golgl apparatus
... |[Infoldings in
(¢) [Centromere | (iii) mitochondria
Flattened membranous
(d) |Cisternae (1v) |sacs in stroma of
plastids

Choose the correct answer from the options given
below.

@ () © @
O @ @ v O
@ @ @ @ o
® O @ G @
4 @) v @ @
Match List - I with List - 11.
List -1 List - 11
(a) | Protoplast fusion (1) |Totipotency
(b) |Plant tissue culture | (i1) [Pomato
(c) |Meristem culture (1i1) | Somaclones
(d) |Micropropagation (v) | Virus free plants

Choose the correct answer from the options given
below.

(@ () ©
1  a) ) @ @
@ @ @ W @
@ @ @O oy @
@ @ @ O @

Complete the flow chart on central dogma,

@(bNa B mrNA 9, (@

(1)  (a)-Transduction; (b)-Translation;
(c)-Replication; (d)-Protein

(2)  (a)-Replication; (b)-Transcription;
(c)-Transduction; (d)-Protein

(3)  (a)-Translation; (b)-Replication;
(¢)-Transcription; (d)-Transduction

(4)  (a)-Replication; (b)-Transcription;

(c)-Translation; (d)-Protein
In the equation GPP —R =NPP

R represents ;

(1) Respiration losses
(2) Radiantenergy

(3)  Retardation factor
(4)  Environment factor

When the centromere is situated in the middle of
two equal arms of chromosomes, the chromosome
is referred as ;

(1)  Acrocentric

(2) Metacentric

(3)  Telocentric

(4)  Sub-metacentric

T
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130. UF @ H SMEYM & 9HW 4 & A0 SE 91 9ey
AN 3TERT H IR ST R ?
(1) EETY
(2) IEUY,
(3) TAWT
4 2,6 4%
131. ffafes 3 § =F, =d o fedos Suv=Es T8
27
() TR g
(2) =B, HEH
@  THE A, WS
@ To=Es, i
182. STFOEIE USiaal & 59 ¥R et femar s
qHaIE?
() SUMA(+); T B (0)
2 SIGA(—); B ()
(8 SUMA(+);SAB (+)
(4 STA(—);AB(-)
133. Tr=fataa ¥ 9 wF we, Ji.H6.em. (ifemys e
AfsHa) o T ST+ €2
(1) ST FeFEA =R 9T P11
(2) 3Rk FeM
(3) SO WA
@  guw R T WEE w1 SR
184, T=feriEa | §, 9iemsst S@en sArafman (W 3R)
¥ =R T i AT WY IR € 2
1)  arrgEier, Fitssro, JEr
@  TrfsEEEw, arefier, e
@) TfsEEEw, JER, aeEier
@ R, FfSe, aEier
185. el - I I gt - 11 < e gofera it :
et - 1 =it - 11
(a) mﬁ% ﬁgwﬁ s | ® Gagd
T I fored |sit
(b) [hiferpdl L= 2R IERSIGED
FE Bl ghE | THE €
© ﬁf ;F" :ﬂwm:m (iif) | Fespferfie
stferes Oidt fufa wd
@ |Sd Mew el ga | () |9 I
CAREap]
= fod T fawedl § 9 W@t S| g
(@ (b)) @© @@
(L @G @ @) Q)
2 @ @ @ (3
@ v G G 0
@ @ @ Gy

130.

131.

132.

133.

134.

135.

P2

The plant hormone used to destroy weeds in a field
18 ;
(1) IBA

@ I1AA
(3) NAA
4 2,4.D

Which of the following are not secondary
metabolites in plants ?

(1) Rubber, gums

(2)  Morphine, codeine

(3) Amino acids, glucose
(4)  Vinblastin, curcumin

Amensalism can be represented as :

(1)  Species A (+); Species B (0)
(2) Species A (—) ; Species B (0)
(3) Species A (+) ; Species B (+)
(4) Species A(—);SpeciesB(—)

Which of the following is not an application of PCR
(Polymerase Chain Reaction) ?

(1)  Detection of gene mutation

(2) Molecular diagnosis

(3) Gene amplification

(4)  Purification of isolated protein

Which of the following ig a correct sequence of
steps in a PCR (Polymerase Chain Reaction) ?

(1)  Annealing, Denaturation, Extension
(2) Denaturation, Annealing, Extension
(3) Denaturation, Extension, Annealing
{4)  Extension, Denaturation, Annealing
Matech List - I with List - IT.
List -1 List - II
Cells with active cell . |Vascular
(a) Livisi . @ |
viglon capaclty f1ssues
T B P—
(b) |similar in structure a|,.
: f1s3ue
and function
Tissue having :
Sclereids
© different tvpes of cells aujfeclere
Dead cells with highly
(d) [thickened walls and (iv) |Simple tissue
narrow lumen

Select the correct answer from the options given
below.

(@ (b (@ (@
O @ @ ) O
@ @ G @O db
@ G @) @ @
@ © @ @ )
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136.

137.

138.

139,

AU - B (SHtafers : sreafafesr )

frfafEa i AP A W &7

1)  FS e AGHSAE TR oh STESIE i 1Ih
e S et fafire wifvEreT § fefiga #=
THd £ |

©2) T HIGEEST & HAT Wl Hgh HoAdd
AR |

(3)  TEcI g W I I FTHFI & HiT Siiazed oh
HERH I IR §59-197 gl I B |

@) it Shfaa edl w frsfk 20§ 3= et
ERESIGIRES

] g THR

N, =N ¥, ¢ fFa frefawmg?

1)  SAMHFRR STEFTURR 1 SITHR

(2)  HEH TR F YR

(3)  <IdIeh] TTEUTeh Rl STTHR

d)  YTRid ATUF T STMER

frefafaa /4 | f67 Te & 3 9 7% 39 98l |
RO 1 SISFETHAT, 37k T 21 o 1% He i a5

T 82
Q) T, ergiEEE
@ W, TS
@8  urus, s
(4)  IOH, et
WY - [ Tl @Y - 11 9 gafem Fifm )
wW-1 Wy - 11
(2) | FeSrHlFg O IEREHERL
& [t i ST T TSRS |
@ |Pradetors | Wfi 1 MEE H
@ | |G ”%f“ ﬁ'.' 'ﬁ'sé';' V&
= Te3 T o o @ e S g
@ b)) @ @
(1 v @) @ @
@ @ v (111)
3 @ i) @ )
@ @) @O v ([)
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Section - B (Biology : Botany)

Which of the following statements is correct 7

1)

(2)
3)

4)

Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath
cells.

Fusion of two cells is called Karyvogamy.

Fusion of protoplasms between two motile
on non-motile gametes is called plasmogamy.

Organisms that depend on living plants are
called saprophytes.

In the exponential growth equation

N¢=N_e™", e represents :

D
)
(3)
G

The base of geometric logarithms
The base of number logarithms
The base of exponential logarithms

The base of natural logarithms

In some members of which of the following pairs
of families, pollen grains retain their viability for
months after release 7

ey
)
3)
(4)

Rosaceae ; Leguminosae
Poaceae ; Rosaceae
Poaceae ; Leguminosae

Poaceae ; Solanaceae

Mateh Column -1 with Column - I1.

Colunn -1 Column -1

(@) | Nitrococcus | () |Denitrification

i F T bl e
ammonila to nitrite

(| Thisbasiiive | Contversmn of nitrite
to mifrate
Conversion of

(d) | Nitrobacter |(iv)|atmospheric nitrogen
to ammonia

Choose the correct answer from options given

helow,

@ (b («
H v @) @ @
@ @ w @O @
@ @ @ a )
¢ @ @ @) a@

T
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140. Tt - I 1 ol - [T % W gofad SIS |

et -1 et - I
(a) |8 2Ta%eq G) (ST = Hyerwor BT
(b) |Gz aTareen Gi) |ffisra staeen
Tl faumeH iR
() | semer | (il [T yiasiaet &
TR B & 99 ST
() |G sTEEeT (iv)|E1.TA. T, 1 Hiaehiaehtu
T fed T fawedl # 4 wE W g
@ b © @
O G Gy G 6
@ @@ @ @ v
@ v @ @ @
@ v © @ @)
141. T - I 30 gt - 11 = W gafed S |
-1 e - 11
(a) [9eH @) [C=C fgzm
(b) |SHgd o1 37T | (1) [FTRISEUL oY
(©) [t amer | (i) [TEehES® e
(d) [vietdFuse (v) [frere a9y
i fedr T fawedl # & wE W g
@ b © @
O  Gv @) @ G
@ v O @ @)
@ © @ @ @
@ @ @ ) @)
142. W - I T @Y - [1 T gAfera Fifs
W -1 WY - 11
(a) %é‘ KsnCrizroGr @ SR
(6) OGK 5 CophoCy @ el
© oGPy, By G Gid e
@ oGK, ,CAy Gy G SRR
T fed T fawedl # 4 wE W g
@ b)) © @@
O v @ @ G
@ @) Gv) @ 6
@ O @ G )
@ @ @ @) ©
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Match List - I with List - I1.
List -1 List - 11
.. |Proteins are
h
() |2 phase ® synthesized
(b) | Gz phase (11) [Inactive phase
Interval between
() |Quiescent stage |(ii1) |mitosis and inifiation
of DNA replication
(d) |G1 phase (v) | DNA replication

Choose the correct answer from the options given
below,

@ (b ()
@ @ @ @ @
@ @ @ @O @)
@ @ @ @ @
¢ @ @ @ @
Match List - I with List - I1.
List -1 List - II
(a) | Protein (1) |C=C double bonds
(b) E;s}razgted (1) | Phosphodiester bonds
() [Nucleic acid (111) | Glycosidic bonds
(d) | Polysaccharide | (iv) | Peptide bonds

Choose the correct answer from the options given
below.

@ (© © @@
O ) @ O
@ @ @O @ G
G @ Gv @ @
@ @ @O Gv) )

Match Column - I with Column - I1.

Colunmn -1 Column - II

(a) %(_5 K5Ciior@Ag4+1G; () Brassicaceae

(b) *BéK{a)C{aAng
R e 0

© ogP @+303+3G)

@) ®3K,, ;CA;_ Gy

Select the correct answer from the options given
below.

(1) Liliaceae
(111) Fabaceae

(1v) Solanaceae

(@ () (© ()
O ) @ @O
@ @ @ o O
@ @0 @ @ @)
@ @ @ @ O

T
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143.

144.

145.

146.

147.

THMeheen! SiEl § 3T &1 iR § IR
GifATRSI- 111 =t YJfHe F E 2

(1) Had snRNAg T STifaa < §

2 rRNA (288, 188 3T 5.88) Fi STIciTEd s
g

tRNA, 5s rRNA $RsnRNA o1 STeifEd T
g

4 mRNA ¥ gefed! sl STHEd e 3

feafafer A FR TR Tea 82

(1) =R YRS WIEHEyH | PS 1 3T PS ILSHI
wmie g ¥l

ATP 3R NADPH + H+ <1 o1 T S5hi™t WepraT
R & S HYeryoT 8 € |

Tifaert - Afhelt o e PS I 24 & 3R NADP
fies =1 s1v= ST 2

@) U St # PS I 3T PS I SF1 8 £

IR o T 9 1 JSarem ae 9 396 LA
T TR L IR IAF a8 AR SARTH TIHT F:
THH! T29H L HER S0 H Tl SuiEiad siE
T U ST SATSTohel Wfe & T

(1) SEEd S wREAES hed W T8 Tl
T Yra | THH1 I B |

IORAfAd S wERTES (hed 92 2T 9
T 37l ¥

Ieuftafda S wrRF fved T ot sit T
w9 H T

Ieafiatda e wRmiEE fheq 92 7& A
Fiifer Gia H T Fig T T8I 2|

BTA.T, setsTd § SR o § g fafire
Wl ° faTaedi #1 veam w9 g1 3 fafre
T 1 FIT Fgl ST @ 7

1) ST ST,

@ gl ey,

3 TREM ST

@) U RS

fefafer d S FA M FE TAa 2

(1)  SurT=EE AR, Yaed | W JEm SeE
T F |

AT YerE o S, Siieis i yfire sifaw
Tereer oo Hifta ¥

3219 (e T7 ufiagw sgwan) #°,
NADH +H* & T 219 9 T3 . F < 17
T & 31k T FADH, Y THATP ST FAd & |
w1 Heenm @iy V ¥ gR S ¥

3)

(2)

(3)

2)

(3)

(@)

(2)

(3)

(@)
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What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?

(1)  Transcribes only snRNAs

(2)  Transcribes rRNAs (285, 18S and 5.85)
(3)  Transcribes tRNA, bs rRNA and snENA
(4)  Transcribes precursor of mRNA

Which of the following statements is incorrect 7

(1) Cyclic photophosphorylation involves both

PSIand PSII

(2) Both ATP and NADPH+H™T are
synthesized during non-cyclic
photophosphorylation.

(3) Stroma lamellae have PS I only and lack
NADP reductase.

(4)  Granalamellae have both PST and PSII.

Now a days it is possible to detect the mutated
gene causing cancer by allowing radicactive probe
to hybridise its complimentary DNA in a clone of
cells, followed by its detection using
autoradiography because :

(1) mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

(2) mutated gene partially appears on a
photographic film.

(3) mutated gene completely and clearly
appears on a photographic film,

(4) mutated gene does not appear on a

photographic film as the probe has no
complimentarity with it.

DNA fingerprinting involves identifying differences
in some specific regions in DNA sequence, called
as ;

(1) Polymorphic DNA
(2)  Satellite DNA

(3)  Repetitive DNA
(4)  Single nucleotides

Which of the following statements is incorrect 7

1)

Oxidation-reduction reactions produce
proton gradient in respiration.

2)

During aerobic respiration, role of oxygen is
limited to the terminal stage.

In ETC (Electron Transport Chain), one
molecule of NADH+H™* gives rise to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

ATP is synthesized through complex V.

@)

4)
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148, TS pBR322 T S amp® ¥ 378 Pstl T
TEd ¥ S weifaede wfady gwiar @1 afg g9
T=15H &l - T aEEEs SeA & AU, T 9 &
fae frafvm frar san & &R g wifsag =61
g Fieh A H A foan wimm & o

149.

150,

(1)

2)

(3)

@

O 39 4 3 WY 9 WP SERA F A
Ml

IE YISt HITSTRT i TR Aiaae T8l =1
IR

TR HifEmet ° TiiEe Sfokie 1 9
B &R WY E - TR RS oA SO
THE YIS R § 91 8 SR

freferfiad o § W FoA

(1)

2)

(3)

4)

favem STA-==en g fEne = fafime |y
2l

it o Afe TEHEE TEHERE H hnRNA
% 3 ToR 4 Sirer S 2

SOt B STerEm i Uik ol THTT
o U SR TA. T, UifemiS, Rho FE & @Y
aferg g1 St 2

U ST{AEA $HE | ¢ o, T mRNA W
wicrara B ¥ |

Frefefea 5 € @@ 74 =1 g

(1)

(2)

3)

@

ATgIea=l Rl WIS arell - FSi qgas
Torferet g wif¥rem i

BT H 219 & HAHR

w1 fog o) §

o 1 qfedl S ARl - HREE S
H =g OEF &
FifreR
FCEIERE R (R
HAgT HUSE,

At fafa arch w2
IR |

o g €

Sfoam ae@ F Y = FHfaem
fraior et €

. TR Saw
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148. Plasmid pBR322 has Pstl restriction enzyme site
within gene amp® that confers ampicillin
resistance. If this enzyme is used for inserting a
gene for PB-galactoside production and the
recombinant plasmid is inserted in an ¥.coli strain

149.

150.

1)

2)

@)

4)

it will be able to produce a novel protein with
dual ability.

it will not be able to confer ampicillin
resistance to the host cell.

the transformed cells will have the ability
to resist ampicillin as well as produce

R-galactoside.

it will lead to lysis of host cell.

Identify the correct statement.

D

@)

3)

4)

Split gene arrangement is characteristic of
prokaryotes.

In capping, methyl guanosine triphosphate
ig added to the 3’ end of hnRNA.

RNA polymerase binds with Rho factor to
terminate the process of transcription in
bacteria,

The coding strand in a transcription unit is
copied to an mRNA,

Select the correct pair.

D

)

(3)

4)

Loose parenchymacells - Spongy
rupturing the epidermis parenchyma
and forming a lens-
shaped opening in bark
Large colorlessempty - Subsidiary cellg
cells in the epidermis

of grags leaves

In dicot leaves, vascular - Conjunctive

bundleg are surrounded  tissue

by large thick-walled

cells

Cells of medullary rays - Interfascicular
that form part of cambium
cambial ring
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151.

162,

163.

154.

155.

JTHIT - A (Sirafesr ; wifvrfesr )

el - 1 1 g=l - 11 3 @19 e &1 |
el - 1 el - 11

() | demforera R W) |udifes
(b) | geietdaer afyerd (i) |ifaes 30
©) | Feitegifer emfasa (W) (fafes 17
)| Faiafgerg (iv) [syfaftes st
et Tomedi | S ST ==H &4

@ (b)) © «@
O Gw G @ G
2 @) ©® ) @
@ @ G G Gv)
@ @ ) @ Qv
o Uiy o1 ged ¥
(1) FEAH
(2) STERTEH
(3) AAWH
4 SRWEH
T & ymT) s % Tl e sufter g €2
Q) S Ui
(2) RIS
(3) Uiae ferewit
(4)  9RUITF STehTel

TETE! i Yeiek HIVERT T 8 U (2n) BW £
I M FasTTeI =t Siauaen it G, e 5 U
&1 WA 8 ¥ T S-TTo o A U ol T F:1
Bt ?

1 32

2 8

3) 16

4 4
3 o afFdEmralfas 999 % & EEX]

%WWW| e

1) 0, T pCOo,, Afuwm H +, sT9amsa 3=
GIEEE]

@) == pO,, TF pCO,, FF H+, s10smwa A
IR

@  FFEp0,, 3= pCO,, HAftmr H+, sTdergd 3=
TATTAM

@ T pO,, T pCO,, A H+, 3T0aTHa 3=a
A=
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152,
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154,

155,

Hindi+English

Section - A [Biology : Zoology)

Match List - I with List - I1.

List - I List - 11
(a) |Aspergillus niger (1) |Acetic Acid
(b) |Acetobacter aceii (i1) |Lactic Acid
(c)|Clostridium butylicum |(iii) |Citric Acid
(d) | Lactobactiius (iv) |Butyric Acid

Choose the correct answer from the options given
below.

@ b €
1 @ @ @ QG
@ @ @ @ @
@ @ @ @) )
@ @ @ @ )
Succus entericus is referred to ag
(1) Chyme
(2)  Pancreatic juice
(3) Intestinal juice
(4)  Gastricjuice

Receptors for sperm binding in mammals are
presenton:

(1)  Zonapelluada

(2) Coronaradiata

(3)  Vitelline membrane
(4)  Perivitelline space

The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at (G phase is 8, what would be the
number of chromosomes after S phase ?

1 32
@ 8
3 16
@ 4

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1)  Low pO,, low pCO,y, more HT, higher
temperature

High pO,, low pCO,, less H*, lower
temperature

Low pOsy, high pCO,, more HY, higher
temperature

High pO,, high pCO,, less H*, higher
temperature

2)
(3)

4)

sh
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156. |t - I %l it - 11 % &y faem 10 |
-1 - 11
(@) |wedfam |6 [T
(b) | Fergerg (1) [gdmett g |l
(c) | Tramgerrezrr (i) |Sifaa sfemey
() | parer (iv) |SipIrRia
T Toredl 9 3fera S8 &1 =F &30
(@ (b)) @ @
n @O a @ @
@ @ @ @ @
3 v @© @ @
@ @ @ @ @
157, STeiRgs qatemen st & W yEwar @ fafire @
FIBUTHT T U9 & ?
(L ¥el¥g
(2) dguE
(3) FJHUE
(@)  IIfasmH
158, I W € WA U Iy H WA w A 30% ¥ O
ATHIA, TaTIA We WEerEH faFa iae 2 ?
() TTe20:G 2250 25
& T:20;G:30;C:20
3 T:20;G:20;C:30
4 T:80:G:20:C:20
159. Hfummsh (fomm o) ¥ sifedfsm (0,) T& FEA
gm‘amg (COy) Tl ¥ T (mm Hg H) B
(1)‘ pOy=159TApCO,=0.3
@  pOy=104TpCO,=40
@) pOy,=40TEApPCO,=45
@  pOy=95TApCO,=40
160. T AT i 9 |
()  FerTIfeE S 5 qrr S
) TEEeH Pk wE e g 2
(©) H G2 &1 & Bﬂﬂwﬂﬂ‘@w%l
) mﬂ@mﬁﬁﬁﬂww?ﬁm
|
(€) Tl Hog 1 UahTsAeH ohi fafsrean i &1
T Toreredl & Sfera o2 o1 =@ 41|
O OROCYLCIORE]
2 (@, ()T (e) Wﬁ%fl
3 (a),®wE (c)iq'@f%:l
@  (a),(d)TE () W F
161, U 7R 7R A1 ST < ShIfITEhT STEeRTan 3 S+ % o
¥ F Fu § 391 Gata o1 T giasw
I BT ?
O 100%
2  50%
@  T5%
@  25%
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159.

160.

161,

P2
Match the following :
List -1 List - 11
(a) | Physalia (1) |Pearl oyster
(b) | Limuelues (11) [ Portuguese Man of War
(¢) |Ancylostoma | (iii) | Living fossil
()| Pinctada (iv) | Hookworm

Choose the correct answer from the options given
bhelow.

(@ (b)) (0 ()
@O O v @ o
@ @ @) @O @)
@ @ O @ W
@ @ @) ) @

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive
feature 7

(1) Pachytene
(2)  Leptotene
(3)  Zygotene
(4)  Diakinesis

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and
Cytosine init ?

(y “T:220:; G260 :2b
@ T:20;G:30;0:20
@ T:20;G:20;C:30
4 T:30;G:20;C:20

The partial pressures (in mm Hg) of oxygen (Oy)
and carbon dioxide (CO,) at alveoli (the site of
diffusion) are :

1  p0y,=159and pC0O,=0.3
2) pOy,=104and pCO,=40
@) p0Oy=40and pCO,=45
@)  pO0y=95and pCO,=40

Read the following statements.

(a) Metagenesisis observed in Helminths.

()  Echinoderms are triploblastic and coelomate
animals.

(©® Round worms have organ-system level of
body organization.

({d) Comb plates present in ctenophores help in
digestion.

(&)  Water vascular system 1s characteristic of
Echinoderms.

Choose the correct answer from the options given
below.

(1) (b), (c) and (e) are correct
(2) (c), (d) and (e) are correct
3) (a), (b) and (c) are correct
4)  (a), (d) and (e) are correct

In a cross between a male and female, hoth
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be diseased ?

QO 100%
@ 50%
@ 5%
@  25%
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162,

163.

164.

165,

166.

167.

168.

169.

Foret srortl & T ot i 9 Tt ) o w9
Y giar &2

1) 3T = arge i fafa & Suftem 9t ¥
@ T e ¥ et af

@) A Tifese ARET et )

4) el ¥ e HeRw sfafee fown g am B
e & & Afrdt S o s 7

() =G

@ ST

@ Teg

4  faerag

4wl 31 & Sud 9 S v w1 i & S
gfe 3IRY H I=H A9AF 77 T8 @Bl a9 = o

Y ©Y 3R &1 i ©7 =07 ISl gsifad 200 ?

(1) EIRE

(2)

(3) TIX

4)

Gt - I 61 | - 11 |19 Toer 1|

Tl - 1 e - 10

(a) [fadgEen 1) |[Her=a

DI BLISEGE] ) [T

() |ma ufzem (iif) [UAferet

() [Zo wifrem (iv) |9

1= farenl o @ sfag st =1 =39 4|
@ (b)) @© @

1 v @© (@

2 v @ O (11)

3) u av O (11)

4 (u av @ @

=1 % S S A T 7 21 ST R 2

() HeAE 875

2  CuT

3) LNG 20

4 Cu?

Ahehg o TG BT e ?

1)  GyuEen

@  SyEE

(3)

4)  HeEE

foerag < Heiy | $E ot faferean]d srfem § 2

() < e <EE g H S 98 9 W

(2) A U UTHIH % G TE W ST A
1 TF I BT B

8)  STHTER T N G0 S T W § e 2

@)  TRIH7-9 T STHEh THeTe ST Hhiss 11 & |

S ST o Tl HIeTE A9 o ToTT STam S ST 8 2

(1) sivHsd

(2) H THHE

(3) HHAIHST

@) e

40
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Which of the following statements wrongly
represents the nature of smooth muscle ?

(1) These muscles are present in the wall of
blood vessels

(2)  These muscle have no striations

(3)  They are involuntary muscles

(4) Communication among the cells 1s

performed by intercalated discs

Which one of the following belongs to the family
Muscidae ?

(1) Housefly

(2) Firefly

(3)  Grasshopper
(4)  Cockroach

During the process of gene amplification using
PCR, if very high temperature is not maintained

in the beginning, then which of the following steps
of PCR will be affected first ?

(1)  Lagation

(2) Annealing

(3) Extension

(4)  Denaturation

Match List -1 with List - 11.

List -1 List -II

(a) |Metamerism (1) [Coelenterata
(b) |Canal system (di) |Ctenophora
(c) [Comb plates (1i1) |Annelida
(d) |Cnidoblasts (iv) |Porifera

Choose the correct answer trom the options given
below.

(@) (b) (e} (d)
G W 0O @ @
2 Gv) G @O @
@ @ am O W
¢ @) v @ @

Which one of the following is an example of
Hormone releasing IUD ?

(1)  Multiload 375

2) CuT

3) LNG20

4 Cu7

The centricle undergoes duplication during :
(1)  Gsphase

(2) S-phase

(3) Prophase

(4)  Metaphase

Which of the following characteristics is incorrect
with respect to cockroach ?

(1) 10th abdominal segment in both sexes, bears
a pair of anal cerci.

(2) A ring of gastric caeca 1s present at the
junction of midgut and hind gut.

(3)  Hypopharynx lies within the cavity enclosed
by the mouth parts.

(4) Infemales, 7th-9th gsterna together form a
genital pouch.

Dobson units are used to measure thickness of ;

(1)  Troposphere

2 CFCs

(3) Stratosphere

(4) Ozone
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170.

171.

172,

173.

174.

175,

fast T fFar g Eafa g € 7
(@) UMURET YA % STET Y
b  Horiha =fea F & =em o
(©  TeRlaa 9§ o o

@ F==H

(€  SYET |

=1 fareul o o S FT 9T F= |
() 9 (2) T (o)

@ o (a), (b) T (o)

(3  F (b), () T ()

(4) e (b) W (o)

= o fem ST o o=t s1fiesi @rgeit wa arfaa
E I -

(0 SEieg
@)  FHeiwA

(3) BHIRwIe
@)

‘AB’ 15 TS % A P 9E el e wed § 2

() A H U -A ve BB wiaedt i srafea
& TR

2 RBC &t 9ag W UTdsH A U6 B & srufeafa
& FHRT

(3) IRHT H WiaeT A T8 B #I STUikefd o wro

(49 RBC T UZ-A Ud U2 B Ufewefl #1 sufifa &

HR
i ferfeeten 99 9 = W wifEeRT Aimfad 86 €2

1)  Tifest \iFEg, siagsdt s, gamioen T
T

(2) SRl SHIfeTaH], SRR, TEEH UE eraeEe

(8) sTag=l Shfaen, Ties WigY, T=eE wd
T

@ oSt B, YRR, TFaEH T8 T

T faftre wgam swm st deigfEaTs gra
21 1A i fafire feufq W Fes & e vg=m s
T, T FEA § 7

() 9g (W) Y= SHA

(2) AT YRR 3ThH

(8) SRR TR

@ Ui fRTeTRES SFE
i T i Y=Y |

n 3 - ffEw

@ TUshdced - FEA

® fam : wafA

@) wfERA " THHGERE A
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Veneral diseases can spread through :
(a)  Using sterile needles
()  Transfusion of blood from infected person
{¢0  Infected mother to foetus
(d) Kissing
() Inheritance

Choose the correct answer from the options given
below.

(1) (a) and (c) only
2) (a), (b) and (c) only
(3) (b), (c) and (d) only
(4) (b) and (c) only

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1)  Orniuthorhynchus
(2)  Neophron

3)  Hemidactylus

4) Macropus

Persons with ‘AB’ blood group are called as
“Universal recipients”. Thisis due fo;

(1)  Absence of antibodies, anti-A and ant1-B, in
plasma

(2)  Absence of antigens A and B on the surface
of RBCs

(3)  Absence of antigens A and B in plasma

(4)  Presence of antibodies, anti-A and anti-B,

on RBCs

The organelles that are included in the
endomembrane gystem are ;

(1)  Golgi complex, Endoplasmic reticulum,
Mitochondra and Lysosomes

(2) Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes

(3) Endoplasmic reticulum, Golgil complex,
Lysosomes and Vacuoles

(4)  Golgi complex, Mitochondria, Ribosomes and

Lysosomes

A specific recognition sequence identified by

endonucleases to make cuts at specific positions
within the DNA 1s:

(1)  Poly(A) tail sequences

(2)  Degenerate primer sequence

(3)  Okazakisequences

(4)  Palindromic Nucleotide sequences
Identify the incorrect pair.

(1) Drugs - Ricin

(2)  Alkaloids - Codeine

(3) Toxin - Abrin

(4) Lectins - Concanavalin A

sh
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176.

177.

178.

179.

180.

181.

182.

42

g o gl ° 3fem ooy &1 =30 4 |

(@) URYEE A o 9-TeRS el e |

b R ¥ I T GrEnfE ¥ Safed $geiy |

H-UCES B B

© UF-IHEH T W-UeES |

@) EH F T-URES UH -UCES SRACHES
Tl gR TREE S 8 & |

=1 Teu 7 faweyl | & fem s 1 ==0 =40

() A ()T ()

@ A (b) T ()

(3)  FAA () T (c)

@ F (a), () T (@)

STelehrel TeyTaTeT Taanm ST afse Ueia Sk ) ganfem
F T w6 99 FRo SR Ush ° S T
TETIT 21§, el © :

1) TR

(2)  HiEen™
I g
gzt dfam

(3)
4)

/= 5 URA wyew & fAT 9 W RNA T9%9%
TEl 87

() siRNA

(2) mRNA

(3) tRNA

(1) rRNA

e H i Tl 3 SRRy T Sev g & ?
(1) GeA-qIvehi TS @Sl o6l °E0 H GUR FA
@) 913 H A PEUR HwEA

@) TN g § UR w1

@) Taerfam =t 9o 4 guR

TRl T S oA H. < fmtu = i w1
T SHH SAE HH HEAT S ?

(1) TFF B TR IR

2) ST FI oI

@) I UfeATasuImEiad i i

4)  ATE Tl 1 HILERT

I |1 UsIeH fafsna wEiEEsm o wEa o agem
F foru ot 22

(1) YRS

(2)  eifEe

@ =

@ wEwRE

=gt T & F9E SR & T6U 399 Ry fem
TS - foan o =h S wigd Teery €| e o
@A H nfvaes Hem g RN 189 & fag
TR ST & 2

(1) T dahnteh

(2)  HEeA AT ahATH

(3)  HSH ST dehten

(4) ELISAT&I®
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With regard to insulin choose correct options,

(a)  C-peptide isnot present in mature insulin.

(b)  The insulin produced by rDINA technology
has C-peptide.

{¢)  The pro-insulin has C-peptide.

(d) A-peptide and B-peptide of insulin are

interconnected by disulphide bridges.
Choose the correct answer from the options given
below,

(1) (a)and(d) only
(2) (b} and (d) only
3)  (b)and (c)only
4)  (a),(c)and (d) only

Chronic auto immune disorder affecting neuro
muscular junction leading to fatigue, weakening
and paralysis of skeletal muscle ig called as :

(1) Gout

(2)  Arthritis

(3) Muscular dystrophy
(4)  Mpyasthenia gravis

Which of the following RNAs is not required for
the synthesis of protein ?

(1) siRNA
@ mRNA
(3 tRNA
(49 rRNA

Which of the following is not an objective of
Biofortification in crops ?

(1) Improve micronutrient and mineral content
(2) Improve protein content

(3) Improve resistance to diseases

(4)  Improve vitamin content

Erythropoietin hormone which stimulates R.B.C.
formation is produced by :

(1) Juxtaglomerular cellg of the kidney
(2)  Alpha cells of pancreas

(3)  The cells of rostral adenohypophysis
(4)  The cells of bone marrow

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins ?

(1) Thrombokinase
(2)  Thrombin

(3) Renin

(4)  Epinephrine

For effective treatment of the disease, early
diagnosis and understanding 1ts pathophysiology
1g very important. Which of the following
molecular diagnostic techniques is very useful for

early detection ?

(1)  Hybridization Technique

(2)  Western Blotting Technigque
(3)  Southern Blotting Technique
(4)  ELISA Technique
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183. 32l AeRTeA el Sufee gl 8 ? 183. Sphincter of oddiis present at :
(1) 3R u TEuT Tiy (1) Junction of jejunum and duodenum
(2) Pt i % 31161101?&?21313? ?1?1?:;0-]) ancreatic duct and
3 FHd %ﬁ ol TR0 WY i dGquenum —
@)  SS-UTEHT 4 astro-oesophageal junction
184, STHEHEE! Fl TG UHHATH S 9 USTEH UReF, | 184, Which is the “Only enzyme” that has “Capability”
el ve THYT i S e g 2 to catalyse Initiation, Elongation and Termination
(1) TS in the process of transcription in prokaryotes 7
(2 O T R R S U U e () DNase
(3) SITHTW T oI T U IR ] (2) DNAdependent DNA polymerase
(4) I U U B (3) DNA dependent RNA polyvmerase
- :_ i FifsT (4) DNA Lagase
185. ‘H“%ﬁ Q ‘H“?ﬁ It < 5 w - | 185. Match List - I with List - I1.
= B List -1 List - II
y . [T vt # e % B
qlee , ntry of sperm through
@ Vo e ¥ W Yaule [ Lo ebleakea
(b) |om 13& (i) [YhaTEh 1 G (b [IUDs (11) |Removal of Vas deferens
RESIEED .| o Wﬁ Edl .... |Phagocytosis of sperms
() (111) (¢) |Vasectomy |G} | . -7
Ioed YefeRTuIfsRa within the Uterus
(d) |feem =57 | (iv) %EHTI Sttt T i (d) [Tubectomy [(iv) [Removal of fallopian tube
e Torenedl O Wt SR 1 =T R | Choose the correct answer from the options given
@ ®» © @ below,
H G @ G G @ () © (@
@ @ @ @ ) ) o @ G W
3 @ @) G @ @ @ @ Q@
@ @ @ G o @ 9 @ o o
AU - B (Eﬂaﬁaﬁ : -g]fﬁﬁm) 11 v 11, 1
186, Wt - 1 1 gl - 11 & &y foem &3 | Seetion - B (Biology 5 Zoelory)
186. Match List -1 with List -1I.
el - 1 et - 11 List - I List - 1I
(a) %T @ U Ford Gﬁg (a) |Scapula (i) |Cartilaginous joints
— N T —— (b) | Cranium (i1) |Flat bone
L i (]1) (c) | Sternum (111) | Fibrous joints
(©) (m) il Eﬁg‘ (d) |Vertebral column [(iv) |Triangular flat bone
(d) [F35H € (1v) ﬁﬂﬂﬁ»“ﬂ ELErARC ) Choose the correct answer from the options given
N below.
= ﬁzﬁig dlr:(lz)csm(za;r =7 A | @ B © @
Q) G G G 0 () Gv) (@ @ @
@ O G @ 2 @ ) @ )
® () G @ O (9 ay G Gv) @
@ G G Gi) 6 @ @) @ @ @O
187. fAfoe % dafea s A= fu o 187. ]]E‘ioilctl}x?ing are the statements with reference to
TR j " pids’.
@ @ feafrs S <harct Thet ST B € S (a) 1 Lipids having only single bonds are called
TG 9T 3T FBd & | unsaturated fatty acids.
(b) WG wepfae (b) Iﬁﬁiﬂﬁn is a pho&phqlip'ii ;
©  FwEgl W feRRe Sl D Prhoitis ah o 30 oo atoras including
@) Ticafes s o wEifeEd ®EA 9ied carboxyl carbon.
20 THEA & L] BAR (&)  Arachidonic acid has 16 carbon atoms.
@ TfweiTw o7 ¥ 16 FTeT WA B 2 | Choose the correct answer from the options given
T fomedi | Sfera ST &1 =F #:1 ) below.
1 Fae (b) Ta (1) (b)and (e)only
Ezg el Eaj %: % @) (a)and (b) only
: 3) (c)and (d)only
E“BE ?%ﬂ E]?) Tﬁ.]:(g" (4) (b) and (c) only

T
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188. Wt - I I et - 11 % o1 fem 4|
el - 1 el - 10
@) [T w e | @ |FT gl
Y N T e g
R
©) (i) [TeuE | HBA
e EEIGIRIEE) .
() (iv)
AT ek

1 feu 4 fawreu 9 sfea s = =mm =10
@ () (
av) @ @)
(v) @) (i)
av) @  @u)
vy @© @

189. TS WF=A H i Tl WA Al & 7

(1)
2)
3)
@)

)
@)
@)
(1)

(111)

@ K &= oo 3 ST ©
b AASSER S
© T ¥s® dISRE FH T W
) TETET ATP i SAsTI=ied % ADP U4 Pi
1 HI=F @ &
(e) %ﬁﬁﬂﬁwz—i@waﬁwaﬁ
= foredl S w8 S F T FU |
1) A (), (), (o), ()
@ e (2), (©), (), (&)
3) A (a), (), (), @)
@  FeA (b, (), (d), (&)
190. et - I 1 et - 11 % 9 firam =4 |
Al - 1 et - 10
(a) |31l Tafereur| @) |+ steafyes sudm 9 |
fadie feredi <l =g |
. [FT T = % e |
(b) |=Afrard fo=m | (i) o st
(c) |319Erd fammm |(il) |faaet ud uaft & 4=
(d) O S Gv) |sifd =1 fir=g
= famedt 9 Sfera 39 =1 =3 34|
@ (b)) @ (@
L @O Gv @@ ()
2 (v @) G@ @
3 @) @ @ )
@ @ @ Gv ()
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188, Match List - I with List - 11,
List -1 List - 11
(a) |Allen's Rule | (1) [Kangaroo rat
(b) Physmln‘:-glcal (11) |Desert lizard
adaptation
Behavioural |.... :
(e) . (i) | Marine fish at depth
adaptation
Gy [Procemieal Lo o Ssesen
adaptation

Choose the correct answer from the options given
below.

(@ () @©@
@ ) @ W O
@ G @ @) 6
@G @ O @ @
@ @ @O @ G

189, During muscular contraction which of the
following events occur ?

(a) °‘H zone disappears
(b) ‘A’ band widens
{c) ‘T band reduces 1n width

(d)  Mpyosine hydrolyzes ATP, releasing the ADP
and Pi

(e)  Z-lines attached to actins are pulled inwards

Choose the correct answer from the options given
below.

(1) (b),(d), (e), (@) only
2)  (a), (c), (d), (e) only
(3 (@), (b), (), (d)only
@ (b)), (e), (d), (e)only

190. Match List - I with List - I1.

List -1 List - 11
Selection of resistant
) Adaptive @) varieties due to excessive
radiation use of herbicides and
pesticides
(b) Convergent (ii) Bones of forelimbs in Man
evolution and Whale
Divergent ..., |Wings of Butterfly and
) evolution (i) Bird
Evolution by
(d)|anthropo- (iv) | Darwin Finches
genic action

Choose the correct answer from the options given
below.

@ () (© @
O @ @ @ G
@ @) @ W @
@) @) @ @O )
@ @ @ o @)
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191.

192,

193.

194,

195.

FAT (A):  SF UF R 3T QI W ST T
a8 G S % A SY HWi o
FfTE @ T F 4SHA o Ty
FL

I QI R e argHEe < & Ry
IR 1 7ATw STfaisH T2l et ardl |
ST FHUAl % YRl | e famwedi 9 € 9@ S| A
= |

®RIUT (R) :

1) (A) 39S & WfF (R) 99 B

@ 3 (A) T (R) ¥4 2 T (R), (A) F1 3@
S B

(3 TH (A) W@ (R) 99 § ©fFT (R), (A) =i
3t =Aren 76 B

@ (A) T ¥ afF (R) 379 B

o | J9d & 9RY & faw =1 F $1F wee

AT9 TEl g ?

()  Hrfes = aed

@) TRSH T YN & 3T ° 9(g

()  UrErfed % W

(4)  SAFEEEE = HEA

sk % S0 &t emafy § e feifes g|lh =
wrfed Far e ?

(1) T
(2) mw
(3 ddfie
CYRI |
gt - I 1 9= - 11 & 919 T =3 |
T - 1 =it - 11
@) [wrefafaw (O |&afeeT Frges
DI R [CE s w—"—
©) (=it |G | gty dprmerd
(d) |frad V) | gzemfiar femaifafesr
=1 faredl @ Sfora s o =9 300
@ b)) © @@
L @ @ @ v
@ av © ) @
@ @ Gav) @ @
@ @O @ ) @)
= °§ =i TEe STeRisE Ul THw T 1w
(MOET) =1 =R 7@l & ?
() Tfea 2 8-32 wiftrrr staeer 5 wfafrye
AT Ty o = € |
() TF A I=9 FeredsH & U LH S T
e g feen s )
()  TME TH THI B N 6-8 37 I Hl B
@) TR FE G g e e s g
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Assertion (A) :

A person goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing
difficulty and heart palpitations.

Reason (R) :

Due to low atmospheric pressure at high altitude,
the body does not get sufficient oxygen.

In the light of the above statements, choose the
correct answer from the options given below.

(1)  (A) is false but (R) iz true

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(3)  Both (A) and (R) are true but (R) 12 not the
correct explanation of (A)

4)  (A)is true but (R) is false

Which of these is not an important component of
initiation of parturition in humans ?

(1) Release of Prolactin

(2) Increase in estrogen and progesterone ratio
(3)  Synthesis of prostaglandins

(4)  Release of Oxytocin

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

(1)  Uterus

(2)  Graafian follicle
(3) Corpusluteum
(4) Foetus

Match List - I with List - I1.
List -1

List - II
Haemophilus

influenzae

)
(ii)
() (iii)
(d (iv)

Choose the correct answer from the options given
below.

Filariasis

(a)
(b)

Amoebiasis
Pneumonia

Trichophyton

Wuchereria bancrofti

Ringworm Entamoeba histolytica

(@) (b) (@ ()
O @ @ O G
@ W 0O @ @
@ @ G O @
@ @ G Gv) @)

Which of the following is not a step in Multiple
Ovulation Embryo Transfer Technology
MOET) ?

(1)  Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage

(2) Cow is administered hormone having LH
like activity for super ovulation

(3) Cow yields about 6-8 eggs at a time

4)  Cow ig fertilized by artificial ingemination
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198.

199.
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TSHITEA Teudst =) 1 ¥ TN e & ?
1) TEEAIM
@)  ufeRealt 9 FEEE B
(8)  feh—o1 UM
(4) rEE faer

e RS AN ST ST Tea s ?

Q) To=r = ol ST i g ooy 2§ |

2) %%@ﬂﬂﬂ%ﬂ BT 8 STU[STT Tt Wk §1S &
|

@) T&=F %1 pH fofag or<ig 2wt 81

@) To=m A ofan ud sufSifm T st TR
1

HIL: VP AUG HifoEHH w& wie-tet-H

T FZ TG FAT 6 |
HAAII: AAA TF AAQ ST Yehe THAT 31w

TG o1 e oI a7 € |

ST FUE % SR R = fael @ T s
=T

(1) 9" I 7o € @i e 11 9l )
2 TH wHAT IS HYT 11 9 2
@) SF AT U &9 11 e £
@) HAT I TR | A e 11 T §

FTereRT e i ggenfau i verdf & e 9 9ret
Fepe | Ukl & U ST U STl o id Siaee
Y TR FTEsl % Aed Heaor wid e §
(1) SRS TSI Wi Ud sialrel! Gy

(2)  THHY: vl |y UE SArEsST 9iy
(3) HHE: I8 9 Td STaTel §iY
(4) A SATHSH GiY TS g |y

FYU F WS o Geied Fue 4 fgr

(@ I8 T &l BF B HE HAT |

b)  IF FFE TR I GieH | Aeg Fan ¢ fowd
g {1 g € |

© I8 U Hadl HIEA ¢

@ I8 IR FYIH TS ¥ |

= foaeredl & @ ST T |

1 bW FIE

@  (a), (b) T (o) TR T

@ (), (b) W (1) T €

@ (@, 0, W DL
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The Adenosine deaminase deficiency results into :

(1) Addison’s disease

(2)  Dysfunction of Immune system
(3) Parkinson’s disease

(4)  Digestive disorder

Which one of the following statements about
Histones is wrong ?

(1)  Histones carry positive charge in the side
chain.

(2) Histones are organized to form a unit of
8 molecules.

(3)  The pH of histones is slightly acidic.

(4) Histones are rich in amino acids - Lysine

and Arginine.

Statement I :

The codon ‘AUG’ codes for methionine and
phenylalanine.

Statement II :

‘AAA’ and ‘AAG’ both codons code for the amino
acid lysine.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement 1[I is 1ncorrect but
Statement II is true

(2) Both Statement I and Statement II are
true

(3) Both Statement I and Statement II are
falze

(4) Statement I is correct but Statement I1
is false

Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules,

(1)  Adhering junctions and Gap junctions,
respectively.

(2) Gap junctions and Adhering junctions,
respectively.

(3) Tight junctions and Gap junctions,
respectively.

(4)  Adhering junctions and Tight junctions,
respectively.

Following are the statements about prostomium
of earthworm.

(a) It serves as a covering for mouth.

(b) It helps to open cracks in the soil into which
it can crawl.

(¢) Itisone of the sensory structures.

(d)  Itisthe first body segment.

Choose the correct answer from the options given
below.

(1)  (b)and (c) are correct

(2) (a), (b) and (c) are correct

(3) (a), (b)and (d) are correct

4)  (a), (b), (c) and (d) are correct

-o0o-
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fraforfaa Feor SEJT?#U'%‘ Read carefully the following instructions :
6. T T TN W, T FR/aa set 4@ e | 6. On completion of the test, the candidate must

: hand over the Answer Sheet (ORIGINAL and
opy) to the Invigilator before leaving
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